National Testing Agency

Question Paper Name: 70 Tribal and Regional Language Literature 21st June 2019 Shiftl Set2
Subject Name: 70 Tribal and Regional Language Literature

Creation Date: 2019-06-21 15:19:37

Duration: 180

Total Marks: 300

Display Marks: Yes

Share Answer Key With Delivery Yes

Engine:

Actual Answer Key: Yes

F0 Tribal and Regional Language Literature

Group Number : 1

Group Id : 646350217
Group Maximum Duration : 0

Group Minimum Duration : 180
Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 300

PART [ General Aptitude

Section Id : 646350410

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 42

Number of Questionsto be attempted: 42

Section Marks: 100

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350916
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 64635018598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the two sets given below, Set-1 provides the different levels of learning according to

Bloom's Taxonomy, while set-II gives their examples and concerns. Match the two sets and
select from the options to indicate your answer :

Set-1
(Levels of Learning)

(a) Memory level
(b) Understanding level
©) Analysing level
(d) Creating level
Options :

@ (O (c)
(1) a) @ (iii)
(2) (1) (i1) (111)
(3) av) () @
(4) @y Q) @)
Options:

645350730149, 1
64535073020, 2
E4E3507 3021, 3
EAEZS07 3022, 4

@)
(11)
(111)
(v)

(d)

(iv)
@av)
(i)
(i)

Set-I1
(Examples)

Identifying examples of a given concept
Generating new ideas
Recalling information

Isolating information into parts

Question Number : 1 Question Id : 64635018598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535073019,

1
EAEZ507 3020, 2
E4E3507 3021, 3
BAEZ507 3022, 4

Question Number : 2 Question Id : 64635018599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions
(2) (Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:

64835073023, 1
E4E350732024. 2
4535073025, 5
4535072026, 4

Question Number : 2 Question Id : 64635018599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535073023, 1
64535073024, 2
48350732025 2
E4E350732026. 4

Question Number : 3 Question Id : 64635018600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following which one1s an example of instructional software?

(1) Audio podcast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

64535073027, 1
64535073028, 2
64535073029, 2
4835072020 4

Question Number : 3 Question Id : 64635018600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B4E35073027. 1
EABZ507 3028, 2
E4BZE07 3029 3



EAE35073030. 4

Question Number : 4 Question Id : 64635018601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which teaching aids enhance the skills like reading, listening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) (General knowledge teaching aids (4) Theoretical based teaching aids
Options:

E4E35073021. 1
EAE3507 3032, 2
64535073033, 3
64535073024, 4

Question Number : 4 Question Id : 64635018601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535073021, 1
64535073032, 2
E4E3507 3033, 3
EAE3507 3034, 4

Question Number : 5 Question Id : 64635018602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below identify the instructional events which form part of the structure
of a lesson plan. Select your answer from the options given below the list

List of instructional events :

(1) Gainming attention of students

(11) Prior knowledge of students

(i11) Informing the learner of the objectives

(1v)  Stimulating recall of pre-requisite learning

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

(1 @ ay )  av)
(2) @) @y vy )
(3) @ @@ W (vi)
4) @) ) @) @)
Options:

64535073035,
64535073036,
4835073037,
E4E3507 2038,

[ N

Question Number : 5 Question Id : 64635018602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535073035, 1
E4E350732036. 2
4535072037, 5
64535072028, 4

Question Number : 6 Question Id : 64635018603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure is

(1) a part of secondary source of data
(2) a technique used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:

64535073039, 1
64535073040, 2
48350732041, 2
45350732042, 4

Question Number : 6 Question Id : 64635018603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535073039, 1
4835072040, 2
45350732041, =2
64535072042, 4

Question Number : 7 Question Id : 64635018604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant observation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

64535073043, 1
64535073044, 2
64535073045 =
48350732046, 4

Question Number : 7 Question Id : 64635018604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535073043, 1
48350732044, 2
45350732045 =2
64535072046, 4

Question Number : 8 Question Id : 64635018605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Plagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and malking use of 1t

(3) Quoting someone and citing him/her

(4) Referring to previous data and working over it with new objectives

Options:

64535073047, 1
48350732048, 2
45350732049 =2
64535072050, 4

Question Number : 8 Question Id : 64635018605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535073047, 1
64535073048, 2
64535073049 2
E4E35072050. 4

Question Number : 9 Question Id : 64635018606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university teacher plans to study the effect of level of aspiration of students in terms of
their socio-economic background on their scholastic performance at the term end evaluation
conducted by an external testing agency. What 1s the dependent variable in this study?

(1) Level of agpiration of students (2) Socio-economic backeround of students
(3) Scholastic performance of students (4) Term end evaluation
Options:



E4E35073051. 1
64535073052, 2
64535073053, 3
64535073054, 4

Question Number : 9 Question Id : 64635018606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535073051, 1
E4E3507 3052, 2
EAE3507 3053, 3
E4E3507 3054, 4

Question Number : 10 Question Id : 64635018607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing 1n a research report 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiquing the ideology of the author

(4) Observing the gender role played by language

Options:

64535073055, 1
64535073056, 2
64535073057, 2
48350732058 4

Question Number : 10 Question Id : 64635018607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE3507 3055, 1
64535073056, 2
64535073057, 3
64535073058, 4

Sub-Section Number: 2
Sub-Section 1d: 646350917
Question Shuffling Allowed : Yes

Question Id : 64635018608 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Unquestionably a literary life 18 for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inability to reveal himself there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyved up by the hope and the belief
that they have only to throw that poem at the world's feet to get back in return the laurel-
crown; that they have only to push as a new light 1in hiterature. You can never convince a
voung author that the editors of magazines and the publishers of books are a practical body
of men, who are by no means frantically anxious about placing the best literature before the
pubiec. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing your book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When you are a little older,
vou will find that criticism i1s not much more serious than the bye-play of clowns in a circus,
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635018609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Literary life 1s unhappy because

(1) One has to carry the load of being a gemus while not being one
(2) The geniug can still remain a genius and be amidst misery in the face of adversity
(3) Talent brings pseudo happiness

(4) There 1= a constant desire to outshine others

Options:



E4E3507 3059, 1
BAE3507 3060, 2
B4E3507 3061, 3
4535073062, 4

Question Number : 12 Question Id : 64635018610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yet always in a hurry

(4) Become critics subsequently
Options:
64635073063, 1
64635073064, 2
£4835073065. 3
64635073066, 4

Question Number : 13 Question Id : 64635018611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage 1s

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cynicism

Options:

4635073067, 1
64535072068, 2
64535073069 =
64535073070, 4

Question Number : 14 Question Id : 64635018612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Experience and age of an author

(1) Makes the author stoic to criticism
(2) Makes the author angry and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64535073071, 1
64535073072, 2
64535073073 2
48350732074, 4

Question Number : 15 Question Id : 64635018613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The effective way of tackling criticism 1s

(1) To defend onesel f through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing i1ts merit

(4) To be gracefully glued to the artistic exercise

Options:

4535073075 1
64535073076, 2
4535073077, 5
64535073078, 4

Question Id : 64635018608 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635018609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535073059, 1
E4E3507320E0. 2
45350720681, 5
4535072062, 4

Question Number : 12 Question Id : 64635018610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835073063, 1
64535072064, 2
64535072065, o
64535073066, 4

Question Number : 13 Question Id : 64635018611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4535073067. 1
EAEZ507306E. 2
EAE3507 30649, 3
BAE35073070. 4

Question Number : 14 Question Id : 64635018612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
435073071, 1

EAE3507307Z. 2
EAE3507 3073, 3
BAE3507 3074, 4

Question Number : 15 Question Id : 64635018613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
435073075, 1

EAE3507 3076, 2
EAEZS07 3077, 3
EAE3507 3078, 4

Sub-Section Number: 3
Sub-Section Id: 646350918
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635018614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are barriers to effective communication?
(a) Physical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choosge the correct answer from the options given below

(1)  (a), (b) and (d)
@  (a), (b) and (¢)
3  (a), © and (d)
(4) (a) and (d) only

Options:

64535073079, 1
4835072080, 2
45350732081, 2
64535072082, 4

Question Number : 16 Question Id : 64635018614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635073079, 1
64535073080, 2
64535073081, =
48350732082 4

Question Number : 17 Question Id : 64635018615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-<content behaviours such as rate of speaking, loudness, tendency to interrupt and

pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

E4E35073083. 1
E4E35073084. 2
64535073085, 3
64535073086, 4

Question Number : 17 Question Id : 64635018615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE3507 3083, 1
E4E35073084. 2
64535073085, 3
64535073056, 4

Question Number : 18 Question Id : 64635018616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Ezxpanded communication
(3) Semantic noise (4) Partiapatory environment
Options:

E4E35073087. 1
EAE3507 3088, 2
E4E3507 3089, 3
BAE3507 30380, 4

Question Number : 18 Question Id : 64635018616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35073087. 1
B4E3507 3088, 2
64535073059, 3
64535073030, 4

Question Number : 19 Question Id : 64635018617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical (4) Ethereal
Options:

E4E35073081. 1
EAE3507 3082, 2
B4E3507 3093, 3
E4E3507 3054, 4

Question Number : 19 Question Id : 64635018617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35073091. 1
BAE3507 3082, 2
645350730383, 3
64535073034, 4

Question Number : 20 Question Id : 64635018618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Set-l Set-11
(Communication elements) (Description of process part)
(a) BSender (1) Brain
(b) Receiver (11) Electro-magnetic impulses
) Message (1m)  The central nervous system
(d) Medium 1v) Sensory organs

Choose the correct answer from the options given below

@ (b (©) (d)

(1) @ (i) (i1) av)
(2) ) @ av) ()
(3) av) @ (11) (i11)
(4) @ Gv @ Q)
Options:
645350730935,
E4E3507 2096,

EAE3S07 3097,
EAE3507 3095,

o LIRS

Question Number : 20 Question Id : 64635018618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¢ gHfeTa i

gz - 1 gz - 11
(T3YT F aed) (seRH- 9T 1 faaa)
() HIUTH @) afEass
(b) =AIEH (i) AeraesFg e
(c) ®@ew (i) PR S T
(dy W (v) HaE
A=t e g frew # & adt 3w 9w

1 @-@, b -0), -0, d-av
@  (@-@), b)) -0, ©-av), d - @)
@) @-av), (b -Q), ) - @), (d) - (u)
@  (@-), ®)-av), ©-an), d -0

Options:

64535073095, 1

64535073096, 2

E4535073037. 3
E4E3507 303858, 4

Question Number : 21 Question Id : 64635018619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the missing term out of the given alternatives

TEF, UGH, , WKL
(1) CMN
2 UJ
3  VIJ
4  IJT
Options:

B45350730845. 1
64535073100, 2



E4E35073101. 3
B4E35073102. 4

Question Number : 21 Question Id : 64635018619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fou o fasen & faa wum 6 qfd Fifomg
TEF, UGH, , WKL
(1) CMN
@  UJI
3 VIJ
@ LJT
Options:

EAE3507 305945, 1
E4E35073100. 2
64535073101, 3
64535073102, 4

Question Number : 22 Question Id : 64635018620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 1s always equal

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
Ede35073103. 1
4235072104, 2
646350732105 3
64635072106, 4

Question Number : 22 Question Id : 64635018620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fefafiaa § o fora auiTers aifisrdl om 8 fae o feem #1090 923 3 g 2

(1)  weHH

(2)  HEATFHAN
(3)  SEEEA
(4)  wIdE =H

Options:
64535073103 1

E4E35073104. 2
E4E35073105. 3
B4E35073106. 4

Question Number : 23 Question Id : 64635018621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 1s 25% greater than », what 1s the value of the

ratio>?

X

(1) 0.75 (2) 0.80
(3) 1.20 @ 125

Options:

64535073107,
4835072108,
4835072109,
4535073110,

o IR

Question Number : 23 Question Id : 64635018621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A x o y T T T § N xy T 25% At 2@ 2w oHE B
x

L 075 (2) 0.80
@ 120 @ 195
Options:

E4E35073107. 1
64535073108, 2
64535073109, 3
64535073110, 4



Question Number : 24 Question Id : 64635018622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5% of the inhabitants of a village having died of malaria, a panice set in. During this, 20% of
the remaiming inhabitants left the village. The population is then reduced to 4750. Find the
number of original inhabitants

(1) 5000 2 5250
(3) 6250 (4) 7500
Options:

64535073111, 1
E4E3507 3112 2
E4E35073113. 3
64535073114, 4

Question Number : 24 Question Id : 64635018622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foredt i % 5% FanfiEi & AeifEr § 9 @9 % d1e QU W HAGAE g T 39h qRA 9 AETiEn 3 9
20% < M SEH FT Ol M e afmrasy ma fi AR gew 4750 @ T T F g
AftaniET f @ 2

(1) 5000 (2) 5250
(3) 6250 4 7500
Options:

64535073111, 1
64535073112 2
E4E35073113. 3
E4E35073114. 4

Question Number : 25 Question Id : 64635018623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the simple interest on a certain sum for 1 year 3 months at 8}2—% per annum exceeds the

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the sum is

(1) Rs. 600 (2) Rs. 800
(3) Rs. 6,000 (4) HKs. 8000
Options:

E4E35073115. 1
E4E35073116. 2
64535073117, 3
645350731158, 4

Question Number : 25 Question Id : 64635018623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gfe foreft g=rafsn @1 aramor sars 84%% dfdad fi 22 4 1 ad 3 AE H 3041 & gaul w 8 HER H 7%
yfqad 6t sl 2 & 45% & Al g sar &, a1 g8 s 2

(1) 600 %. (2) 800=.
(3) 6000, 4) 8000 .
Options:

645350731151
E4E3507 3116, 2
E4E35073117. 3
645350731158, 4

Question Number : 26 Question Id : 64635018624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils’ i1s taken to be True then which of the following
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen 1s pencil (4) Some pens are pencils
Options:

645350731191
64535073120, 2
E4E35073121. 3
BAE3507 3122, 4

Question Number : 26 Question Id : 64635018624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe aF aEg ol W e A8 2 F oo " formn Su at FAefafiaa 4 9 0 96 9 9 8@
Fﬁ'ﬁ’l%:

(1) ot o U 44 2 2 @ tFaa = )
@ R ol T AR A 2 @) % U i #
Options:

E4535073119. 1
64535073120, 2
64535073121, 3
4535073122, 4

Question Number : 27 Question Id : 64635018625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :
(1) All fans are tubes
(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 1s bulb

Select the correct answer from the options given below :

D (@, b)© (2) (a)and (d)
(3) () only 4 (D), () and (d)
Options:

645350731231
64535073124, 2
E4E3507 3125 3
BAE3507 3126, 4

Question Number : 27 Question Id : 64635018625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A & e aey feu o #, ToAm =m feed gra fRe g e snan al & Fefofaa 8 S8 g
Ferd &9 w9 O wiH fou S Had 27

A A ;o () ot T oo F )
(i) sl gl A4 2|

Elea] 1 (a) UM ded A 21
by =ft == 9g 2
© U ¥od 21
(d) = i ZE e A 2
A o e Frwet § & wd s afe
(1) (@, b)), © 2 (a) ()
@) ¥ (a) @ ), ) R’ (d
Options:

645350731231
64535073124, 2
64535073125 3
EAE3507 3126, 4



Question Number : 28 Question Id : 64635018626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When subject and predicate of both the premises 1s same but they differ only in quantity, it

18 known as

(1) Subaltern

(2) Contraries

(3) Subcontraries
(4) Contradictories

Options:

64535073127, 1
64535073128, 2
64535073129 2
48350721204

Question Number : 28 Question Id : 64635018626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl GHI ATaR Al < 32T AT faum gae 2, foeq 3t aen B 2 91 g9l TR &9 d ST St 2

(1) T

2  foufia g

@  3u-foula wg

(4)  femarar
Options:

64535073127, 1
64535073128, 2
EAE3507 3129, 3
E4E35073130. 4

Question Number : 29 Question Id : 64635018627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the reasoning in the following argument :

Writing on paper 1s similar to writing on the board’.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
452507212311
4035072132 2
64635072133 2
6463507321324 4

Question Number : 29 Question Id : 64635018627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiad 9% # 9 $i vgam e e 7 g N2 waEd & wgu g |

(1) P
(2) g A
(3) G AT

(4) HATTHATHS
Options:
646350732121, 1
64635073132 2
4535072133 2
646350732134 4

Question Number : 30 Question Id : 64635018628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All leaves are green’ is equivalent to which of the following propositions?

(a) No leaves are green
(b) No leaves are non-green
(c) No leaves are in other color than green

(d) No green is leaf

Select the correct answer from the options given below :

(1) (b), (c) and (d)
(2 (a) and (b)
(3) (b) only

@  (b)and ()
Options:
45350721351
64535072126, 2
64535072137, 5
64535073138, 4

Question Number : 30 Question Id : 64635018628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a% ared | oadl afvn gftd 27 Refafia # 3 R ok e % oedged 2

(@ g il el 2l A 2

b)  FE o =i gfarfza A8 2

© @iz Wl uxht g % sy s a2
@ g ot g, ot A 2

5y o o, faerent 6 & T e A

O O, e W@
@ @O
@ ¥« (a)

@ (b R (o)

Options:
645350731351

E4E3507 3136, 2
EAE35073137. 3
64535073138, 4

Sub-Section Number: 4
Sub-Section Id: 646350919
Question Shuffling Allowed : Yes

Question Id : 64635018629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following table that shows the total number of tickets sold of five movies P, Q,

R, S and T, across two cinema houses A and B on a particular day. In accordance with the
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 2300
Q 350 400
R 250 1510,
S 200 350
T 400 250

Sub questions

Question Number : 31 Question Id : 64635018630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of movie T' at Cinema house A 1s what percent of the number of
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4) 190%
Options:

E4E35073139. 1
64535073140, 2
64535073141, 3
64535073142, 4

Question Number : 32 Question Id : 64635018631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total number of tickets sold of movies @ and R together at both the Cinemas A

and B together?

(1) 1050
(2) 1200
(3) 1250
(4) 1350
Options:

E4E35073143. 1
B4E35073144. 2



E4E35073145. 3
B4E35073146. 4

Question Number : 33 Question Id : 64635018632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the ratio of the number of tickets sold of movie P at Cinema B to the number of

tickets sold of movie @ at Cinema B?

(0 2:8
2) 314
B 1:2
(4) d:5
Options:
64535073147, 1
4835072148 2
4535072149 2
64535072150, 4

Question Number : 34 Question Id : 64635018633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the difference between the total number of tickets sold of all movies together at
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 (2) 170
(3) 150 (4) 160
Options:

64535073151, 1
64535073152, 2
64535073152, 3
EAE3507 3154, 4

Question Number : 35 Question Id : 64635018634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together?

(1) 360 (2) 820
3 300 4) 840
Options:

E4E35073155. 1
E4E3507 3156, 2
E4E3507 3157, 3
64535073158, 4



Question Id : 64635018629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Fffiga arferer ot fa=m $ifse, S v f@em 7 w e - o i e - & d o= feedi-i ey,
An, v o1 & F BEwd fi o gen fi W auid 21 g9 aifde % aar wog@ e gl (vee g
31-35) % 3 difor:

formram feew-femal i sl
e ferraTeR
T Eil
ot 200 300
| 350 400
aw | 250 350
o 300 350
Gl 400 250

Sub questions

Question Number : 31 Question Id : 64635018630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frarEr-v @ fhen-& 6 owl f1 15 fewd 6 gem = yfdea FAaEr-v @ Gea-dt < &= o0
femral =i wwean 6t qoFT § foar an?

(1) 220 yidwd (2) 200 yfdvE
(3) 210 yiqwd 4) 190 yfes@
Options:

64535073139, 1
64535073140, 2
E4E35073141. 3
BAE35073142. 4

Question Number : 32 Question Id : 64635018631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aHl Frmmedi-u, S sfl %1 e & Fon-a9 i fhon-aar i fishl 1 78 fewel 1 e @ e 27

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

64535073142, 1
64535073144, 2
E4E35073145. 3
B4E3507 3146, 4

Question Number : 33 Question Id : 64635018632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot W feen-dt 6t fasht $t 78 el 6t g = wuE fRmmEe- v fFen-ay e Geft &
fesrdl 6 qaT | ferar 2:

R 2:3
@ 3:4
@ 1:2
@ 3:5
Options:

EAE35073147. 1
B4E35073148. 2
64535073145, 3
64535073150, 4

Question Number : 34 Question Id : 64635018633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forre-v v g fyen w ot el i feht 6 13 el it wa den it Rearer-d o ga faen &
ot fecHi it fosht it 73 fewdl i v gen F e v feen 27

(1) 180 (@ 170
(3) 150 (4) 160
Options:

E4535073151. 1
64535073152, 2
64535073153, 3



EAE35073154. 4

Question Number : 35 Question Id : 64635018634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forwre-sft ot fon-4t eiiv um $i e Ware skt $ 0 2w $1 sfoa gen feadf 22

1) 360 (2) 320
(3) 300 (4) 340
Options:

645350731551
64535073156, 2
E4E3507 3157, 3
EAE3507 3158, 4

Sub-Section Number: 5
Sub-Section I1d: 646350920
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635018635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
| i ICT is an acronym that stands for information and competitive technology.

Q : The effective use of ICT to support learning in the inclusive education exemplifies
good teaching for all learners.

(1)  Ponly (2) Qonly
(3) Both P and Q (4) Neither P nor @
Options:

E4535073159. 1
64535073160, 2
64535073161, 3
E4E3507 3162, 4

Question Number : 36 Question Id : 64635018635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefafiaa 4 @ #a /w8 w9 g @ & % o d w12 2/77

P®) . A e uiEd 2, R aerd FeReE Ut st e (e vE giaer et
T 21
@ gurasi e § 2t sadR % fau 2 O & 1 avrdt soe ol SendiE F oo v a=s
ST %71 32E 2 |
1) % (P) (2 e Q)
@ (@) =@ aF 4) Fd @) HATd Q)
Options:
E4E25072159 1
C4E3E073160. 2
Lde2E0732161. 2
C4EZEQ7Z1E2. 4

Question Number : 37 Question Id : 64635018636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 18 spyware 1in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowledge,
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computers of
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private computer
systems

(4) A computer program hidden within another seemingly harmless program that
produces copies of itself and inserts them into another programs or files

Options:

4535073163 1
64535072164, 2
64535073165, 2
64535073166, 4

Question Number : 37 Question Id : 64635018636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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e &l 2 |

(3) a8 G, e weg % uferen ® fGges w6 @ B weer yonelt 9% 9gw 9n % fog
39 foa S 2 |

@)  UF @ g amed g & arfd few o were sium, st s gfafaftien sam 2
AN T WU AT FEeH H Oy =T 2 |
Options:
64635073163,
64635073164,
64635073165.
64635073166.

o IR

Question Number : 38 Question Id : 64635018637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes a wiki?

(1) A system that allows users to add information onto a website but does not change
any pre-existing information

(2) A system that allows collaborative modification of 1its content and structure directly
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual
(4) A system that monitors the modification of content within a blog

Options:

645350721671

C4EZE07Z168. 2

E4E3507 31640, 3
EAE35073170. 4

Question Number : 38 Question Id : 64635018637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFefafaa 5 9 =9 fadh (Wiki) =1 399 e 2ar 2:

(1) & yonell, St ITERTRAlA] 1 Uh JaEEe 9 gl Sied adt 2, <ifee g | e e ot gemn
= fafda w3 81 &t |

(2) Ok qolel, S Gead ©9 3 e Ao A A% [Avaa o TRV IR araie B erat ot 2
(3) U 9UIel, S A & 8 A v safdana e & w1 1@ e wdt 2
4) U wunelt, St U sArT F oia Areied & FIRE S 2

Options:



EAE35073167. 1
64535073168, 2
645350731645, 3
64535073170, 4

Question Number : 39 Question Id : 64635018638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acronym
VLE stands for

(1) Video Learning Environment
(2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
645350731711
64535073172 2
435072173 3
64535073174, 4

Question Number : 39 Question Id : 64635018638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535073171, 1
E4E35072172. 2
E4E35072172. 2
64535072174, 4

Question Number : 40 Question Id : 64635018639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the decimal equivalent of binary number 11001107

1 102
@ 204
3 153
@ 5l
Options:

645350731751
EAE3507 3176, 2
EAE35073177. 3
64535073178, 4

Question Number : 40 Question Id : 64635018639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-=rha 1100110 =1 T9geH G¥HeTd FHT 27

1 102
@ 204
@ 153
@ 51
Options:

645350731751
EAE3507 3176, 2
EAE35073177. 3
64535073178, 4

Question Number : 41 Question Id : 64635018640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which are the examples of potential kinetic energy? Select your answer from the options
given below :

1) Water that 1s beluind a dam

(11) Radio signals

(i11)  An airplane idling on the runway
av) A satellite before it 1s launched
() A colled spring

(vi)  Heat harnessed from the oceans
Options :

(1) @, ), av) and (V)
(2) @, @), (1) and (v1)
(3) (@), Gum), Gv) and (v)

(4) (@), @v), (v) and (v)

Options:

64535073179,
64535073180,
48350732181,
4535073182,

o P

Question Number : 41 Question Id : 64635018640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



freforfiaa @ @ #F 3 avey 1fas F= F 33 E:
A= fou g, foreren O & o I gAY
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Options:

64835073179, 1
45350721280 2
64535072181, 5
64535072182, 4

Question Number : 42 Question Id : 64635018641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Statement I : The Millennium Development Goals were adopted in the United Nations in
the year 2010

Statement II : Developing a global partnership for development was one of the Millennium
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I

(2) Only IT

(3) Both I and II
(4) Neither I nor IT

Options:
64635073183, 1
48350721284, 2



E4E3507 3185, 3
E4E3507 3186, 4

Question Number : 42 Question Id : 64635018641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535073153 1

E4E3507 3184, 2
E4E3507 3185, 3
E4E3507 3186, 4

Question Number : 43 Question Id : 64635018642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference on

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
E4E2E072187. 1
4035072188, 2
64635072189 2
6463507321390 4

Question Number : 43 Question Id : 64635018642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  &iwEm T, 1972

@  frear & sefien adie, 1992
(8)  SirEwgsri fraw o, 2002
(4  f=l +20 g9er, 2012

Options:

64535073187, 1
64535073188, 2
64835072189 2
4535072190 4

Question Number : 44 Question Id : 64635018643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Oxides of sulphur
(c) Sunlight

() Carbon monoxide

Choose the correct answer from the code given below :

1) (&, b)), ©
@ (b)) @D
@ @ 0 @
@ (@), b) @

Options:

64635073191, 1
4835072192 2
64535072192, 5
64535072194, 4

Question Number : 44 Question Id : 64635018643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535073191, 1
4835072192 2
4535072192 2
64535072194, 4

Question Number : 45 Question Id : 64635018644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Avalanches
(3) Invasive species (4) Diseases
Options:

6453507313951
E4E3507 31396, 2
EAE350731397. 3
E4E35073198. 4

Question Number : 45 Question Id : 64635018644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1)  mE (2) femam
(3) ATHMEF ST (4) st
Options:

E4E25073155. 1
E4BZ507 3186, 2



EAE350731397. 3
B45350731398. 4

Question Number : 46 Question Id : 64635018645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GIAN (Global Imitiative of Academic Networks) has been launched by Government of India
1n order to

(1) Encourage Indian Scholars to learn abroad
(2) Discourage Indian Scholars from researching in India
(3) Encourage global scholars engage with their counter parts in India

(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

64535073199, 1
64535073200, 2
64535073201, 2
E4E350732202. 4

Question Number : 46 Question Id : 64635018645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  WAdE A=Al #i fges d e agu 1 & oo dienfaa &)

(2)  vndE @Al B 9 J Mg w1 3 gdieanad 1|

(3)  aAfvas wAwadl 1 URd H He quaradl & a1y B FF FH F e dieied F60
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Options:

4350731499 1
645350723200, 2
64535073201, 5
64535073202, 4

Question Number : 47 Question Id : 64635018646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education System
in India?

(1) Learming from books (2) Learning from the teacher
(3) Learning from thinlking (4) Learning through instructional material
Options:

E4E3507 3203, 1



EAE3507 3204, 2
64535073205, 3
BAE3507 3206, 4

Question Number : 47 Question Id : 64635018646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) gl ° HigA (2) o= o dign
@)  faaT | " (4) SFeTETHS Gl & wreEm o e
Options:

64535073202, 1
EAE3507 3204, 2
E4E3507 3205, 3
BAE3507 3206, 4

Question Number : 48 Question Id : 64635018647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five year plans of India has e1ven special emphasis on “Education
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

64535073207, 1
64535073208, 2
E4E3507 3208, 3
EAE35073210. 4

Question Number : 48 Question Id : 64635018647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  derd geadia e (2) el gl A
(3)  zudl g=EdE FeE (4) Rl vEEdi AeAT
Options:

B4E35073207. 1
64535073208, 2
64535073209, 3
4535073210, 4



Question Number : 49 Question Id : 64635018648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Brain drain problem which was dominant in the muddle of 20t Century in India 1s indicative
of which one of the following aspects?

1)  Lack of adequate facilities for advanced study and research in India

1) The capacity of the developed nations to buy the talent at a price beyond the means of
the developing nations

(111) Increase of population and under utilization of human research
Choose the correct option from below

(1) Only (1) and (111)
(2) Only (i) and (iii)
(3) Only (ii1)

(4) Only (1) and (1)

Options:

64635073211, 1
64535073212 2
64535073213 2
64535073214 4

Question Number : 49 Question Id : 64635018648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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()  WNE H I AT AN g & uAiE g w1 emE |

Gi) o 2o ft 39 o @ ufaw-g i awman, St faemsfia 2s & g 7 981 o)
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1 R o, freedi # @ ad fwen gfo:

(1) *aa (i) SN (jii)
(2) Fad (i) AN (i)

(3) Fae (iil)
(4) Fad (1) AT (i)
Options:

64535073211, 1
E4E3507 3212, 2
EAE3507 3213, 3
EAE35073214. 4



Question Number : 50 Question Id : 64635018649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The premier organisation established 1n India to deal with capacity bullding and research in
planning and management of education in India and South Asia is

(1) ATU (2) SAARC University
(3) NUEPA (4) Nalanda Unmversity
Options:

64535073215, 1
EAE3507 3216, 2
EAE35073217. 3
EAE3507 3218, 4

Question Number : 50 Question Id : 64635018649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g A1 2o uyEr | e F FEeE o ydeq 6 gear w0 99 F 3Ry O 9nd § ©nfud R
T & WS AT 2

(1) uaE.g, (2) ar% gRafdd (SAARC University)
(3 w.gidu, (@) Awe fafvaenea
Options:

645350732151
64535073216, 2
E4E35073217. 3
EAEZ507 32158, 4

PART II Tribal and Fegional Language Literatures

Section Id : 646350411

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 82

Number of Questionsto be attempted: 82

Section Marks: 180

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 646350921
Question Shuffling Allowed : Yes

Question Id : 64635018650 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (51 to 55)
Juestion Label | Comprehension



A student should have practical knowledge along with bookish knowledges. He/she should
always be aware of his/her duties and rights. He/she should be conscious of not behaving in a
fashion which could be termed as dominating towards the younger and imtiating for the
elders; he/she should also not be stubborn. He/she should be humble and large hearted but not
timid and shy. His/her knowledge should not make him/her merely argumentative but should
expand the horizon of his’her knowledge but being self-respecting is not bad. A student
should make use of discretion rather than command. He/she can benefit more from following
the orders of his/her teachers. He/she should be friendly and co-operative. His/her way of
living should be aftractive and according to the fime of the year. He/she should not forget
his/her culture and must believe in God. A student should live a balanced life and stay away
from carelessness. He/she should always strive for the all-round development of his/her
personality. Student life is the most significant phase of a person’s life. The entire life of a
person 1s built on the basis of one’s student days” life.

Sub questions

Question Number : 51 Question Id : 64635018651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What will be the appropriate title for the paragraph?
1.  Bookish knowledge
2. Practical knowledge

3.  Self-respect

4, Student’s life

Options:

64635073219, 1
64535073220 2
64535073221, 2
4835073222, 4

Question Number : 52 Question Id : 64635018652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



For whom does the student need to be aware?
1.  For the expansion of knowledge
2. For duties and rights
3.  For an aftractive lifestyle

4.  For self-respect

Options:

64635073223, 1
64535073224, 2
64535073225 2
E4E35073226. 4

Question Number : 53 Question Id : 64635018653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How should a student go about doing anything?

[e—

Through self-respect
2. By expanding his’her knowledge
3.  Through the orders of his/her teachers

4. By using his/her discretion

Options:

4635073227, 1
64535073228, 2
64535073229 2
64535073230 4

Question Number : 54 Question Id : 64635018654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



How should a student live his/her life?
1.  With self-respect
2. With large heartedness
3. By following the orders of his/her teachers

4. By keeping in mind his/her culture

Options:

64635073231, 1
64535073232 2
645350732332 2
E4E350732224. 4

Question Number : 55 Question Id : 64635018655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which is the major part of human life?
1. Bookish knowledge
2. Friendliness
3.  Student life

4. Self-respect

Options:

64635073235, 1
64535073236, 2
64535073237, 2
48350732238 4

Question Id : 64635018650 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (51to55)
Question Label . Comprehension
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Sub questions

Question Number : 51 Question Id : 64635018651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

39 uRedg @1 Suged ss a1 g
1. U&oHE A
2. oAGgING I
3. WiHEF
4. fendfsies
Options:

E4E35073219. 1
EAE3507 3220, 2
BAE3507 3221, 3
4535073222, 4

Question Number : 52 Question Id : 64635018652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

et &1 foraas fory SITRee W87 31 sMaxaed 82
1. 97 R & fom
2. Hdoa 3R AR & fau
3. 3y TEH-Hed & fo
4. A %

Options:



EAE3507 3223, 1
BAE3507 3224, 2
BAE3507 3225, 3
4535073226, 4

Question Number : 53 Question Id : 64635018653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

faemdf &1 &13 it FM [F9 veR H= Tty 2
1. WiHAEd
2. FA-T<R o

3. e @ IRY

4. uAfddes ¥

Options:

64535073227, 1
4835073228 2
E4E35073229. 2
645350723220, 4

Question Number : 54 Question Id : 64635018654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fa=meif @1 Sfta= 5 veR =dia s anfgu ?
1.  WiHAE & 9y

2. QGRAIER B A1y
3. TS B 311 B U HID
4. AT EHId HT M TEA §U

Options:

648350732311
64535073232, 2
64535073222, 5
64535073234, 4

Question Number : 55 Question Id : 64635018655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HTa-Sia- 1 T 31 &7 82

1. U=oaIe

2. o
3. faemdfsias
4. WIYER

Options:

64635073235, 1
64535073236, 2
64535073237, 2
48350732238 4

Sub-Section Number: 2
Sub-Section 1d: 646350922
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 64635018656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s NOT a sub-caste of Kharia?
1. DudhKhana
2. Peer Khana
3. Dhelki Kharia

4. Pahari Kharia

Options:

64835073239, 1
64535073240, 2
645350723241, 5
64535073242 4

Question Number : 56 Question Id : 64635018656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1.  gyafsa
2. dgEsa
3. ool Efed
4. TS @S

Options:

64535073239, 1
64535073240, 2
64535073241, 2
E4E35073242. 4

Question Number : 57 Question Id : 64635018657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

It was none but Britishers who first got the books in tribals language published. Is this
statement correct?

r——

Absolutely incorrect
2. Partially correct
3.  Incorrect

4, Correct
Options:
64535073243, 1
64635073244, 2
64835073245, 3
64635073246, 4

Question Number : 57 Question Id : 64635018657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. Repam@ag
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3. TEdg

4. w@e

Options:

64535073243, 1
64535073244 2
648350732245 =2
E4E350732246. 4

Question Number : 58 Question Id : 64635018658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The village deity of Munda tribe is known as

—

Sing Bonga

2. Hatu Bonga

o

Soso Bonga
4.  Ekir Bonga

Options:

64535073247, 1
4835073248 2
45350732249 2
645350723250, 4

Question Number : 58 Question Id : 64635018658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535073247, 1
4835073248 2
45350732249 2
645350723250, 4

Question Number : 59 Question Id : 64635018659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the correct sequence of primutive tribes of Jharkhand?
1.  Birhor, Kurwa, Asur, Chero
2.  Baiga, Banjaara, Bedia, Bhumiz
3. Birazia, Paralia, Mal Pahana, Kharwar

4.  Korwa, Parhana, Birazia, Asur
Options:
64635073251, 1
64635073252, 2
64635073253, 3
64635073254, 4

Question Number : 59 Question Id : 64635018659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IREE B 3nfeH sHenadl § B A 9 19-91 %1 981 87
1. @R oRal /R, =
2. S, s Sfean yfts
3. foxiomn, oefean, \rg ugiisan, @Er
4. oRar g, fafom, 3R

Options:

64635073251, 1
64535073252 2
64535073253 2
E4E35073254. 4

Question Number : 60 Question Id : 64635018660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following sequence 1s most appropriate ?
1.  Agriculture, Anmimal Husbandry, Hunting, Food Gathering
2. Ammal Husbandry, Hunting, Food Gathering, Agriculture
3.  Food Gathening, Hunting, Amimal Husbandry, Agriculture

4. Hunting, Animal Husbandry, Agriculture, Food Gathering

Options:

64535073255, 1
64535073256 2
4835073257, 2
64535073258, 4

Question Number : 60 Question Id : 64635018660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fafeiead & 9 oF-91 %0 waiue 3uged 87
1. Y, oRueEH, 3Nde, @R 9o
2. UXUEH, 3, ©R] &, SN

3. R Heae, e, U, SN
4. TET, U, BN, Tre o

Options:

648350732551
E4E35073256. 2
64535073257, 5
64535073258, 4

Question Number : 61 Question Id : 64635018661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).

Assertion (A) : Inthe Ancient Age (Adikal) man grew in the lap of nature.

Reason (R) : Because they adapted the environment and succeeded 1n getting the
resources of life.

Select the correct answer from the options given below :
1. (A)is true but (R) is false
2. (A)is false but (R) is true
3. Both(A)and (R) are false

4. Both(A) and (R) are true

Options:

64535073259,
4835073260,
E4E3507 3261,
4535073262,

o IR

Question Number : 61 Question Id : 64635018661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE3507 3259, 1
BAE3507 3260, 2
B4E3507 3261, 3
64535073262, 4

Question Number : 62 Question Id : 64635018662 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who was the first to use the term ‘Nag Desum’ for Jharkhand?
1.  Madra Munda
2. Sutia Munda
3. Risa Munda

4. Chutia Munda

Options:

64635073263, 1
E4E35073264. 2
E4E350732E5. 2
64535073266, 4

Question Number : 62 Question Id : 64635018662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATGgH’ Teg e IIREUS & fore ugd wam fean?

1. T gusl

gfcran gost

!*-J

3.  feguer

4.  gearygue

Options:

64535073263, 1
64535073264, 2
E4E35073265. 2
64535073266, 4



Question Number : 63 Question Id : 64635018663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R).

Assertion (A) : Mother tongue 1s a valuable social-cultural asset of a man. It gives one
to his lineage.

Reason (R) : Because the identity of Sadnans is their mother tongue Sadaanese.

Select the correct answer from the options given below :
1. Both(A) and (R) are incorrect
2. Both (A) and (R) are correct
3.  (A)isincorrect but (R) s correct

4. (A)1is correct but (R) is incorrect

Options:

4835073267, 1
E4E3E50732E8. 2
64535073269, 5
4535073270, 4

Question Number : 63 Question Id : 64635018663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R < oy fiu MU & oW A ue aifiieu (A) € 9IR @1 a6 (R) B1 HuHl @t ufeu 8k
i fou o et § 9 98 W gRu:

VBYT(A) :  FIGHTS A B ST IS -HIepiam 1Y 81 3949 950 g 9% 39
F0-Hd 1 Gl T g

& (R) . Fifs GEHI B T ITD! AIGHTST e gl
1. (A) 3R (R) Gt TTea B
2. (A)IAME®) SHITHE
3. (A)TEAE T (R) WEIR
4. (A)FEIRYER) TR |




Options:

64535073267, 1
4835073268 2
E4E350732E69. 2
64535073270, 4

Question Number : 64 Question Id : 64635018664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who 1s the founder of Nag dynasty?
1.  Mam Mukut
2. Madra Munda
3.  Sirma Munda

4.  Fam Mukut

Options:

648350732711
EB4E3E073272. 2
64535073273, 5
4535073274, 4

Question Number : 64 Question Id : 64635018664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T B |G fore D12
1. #frgge
2.  HEIHUST
3. Rrmrgue
4. WITHHC
Options:

64535073271, 1
EAE3507 3272 2
EAE3507 3273, 3
BAE3507 3274, 4

Question Number : 65 Question Id : 64635018665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-I List-II
(a) Sutiyamba Garh (1)  Durjan Saal
(b) Chutia Garh (ii) Bairee Saal
(¢) Doisa Garh (i11) Pratap Rai
(d) Khukhra Garh (lv) Madra Munda

Choose the correct option from those given below :
L (a)H1v); (b)H); (e)-(i1); (d)—1)
2. (a)-(u); (b)-(1); ()-Q); (d)-(v)
3. (a)-n); (b)) (e)—v); (d)—i)
4. (a)-); (b)) (e)-(u); (d)-(v)

Options:

64535073275, 1
64535073276 2
E4E3E073277. 2
64535073275, 4

Question Number : 65 Question Id : 64635018665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Teil-1 &1 gei-11 9 gafera sifon

a1 a1
(a) gfrms g (i) o 9

(b) IemTg (i) ¥

(c) ST (i) vamT I

(d TEUTe (tv) AU HUs
fou U ey # 9 TE IR H1 T BIO ;

L. (a-(v); (b)-(u); (c)-(w); (1)
2. (ay(u); (b)-Q); (¢)-1); (d)-Qv)
3. (a)-(); (B)-1); (0)-v); (d)-(ii)
4. (a)-(Q); (b)-1); (0)in); (d)-Gv)



Options:

64535073275, 1
E4E3E5073276. 2
E4E3E073277. 2
64535073278, 4

Question Number : 66 Question Id : 64635018666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What are the attributes of Model Devnagri Script?

—
.

inconveniences in typing
2.  not correctly legible
3. beautyin the scnpt

4.  difference in sound and the script

Options:

64535073279, 1
64535073280 2
64535073281, 2
E4E35073282. 4

Question Number : 66 Question Id : 64635018666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3f1e forf S & B3 1T §2
1. ToHuH AR A
2. WRIUGIT TP
3. o d gewan
4. @ R [ H eicr

Options:

64635073279, 1
E4E35073280. 2
4535073281, 2
4535073282, 4

Question Number : 67 Question Id : 64635018667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Indian scripts have evolved from
1.  Arabic script
2. Hibrew script
3.  Kharosthi script

4. Brahmu script

Options:

4535073283, 1
645350723284, 2
64535073285, 2
64535073286, 4

Question Number : 67 Question Id : 64635018667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Yt feiftat @1 faers fasd gan &2
1. 3dlfafy

2. fRgfa
3. SNl iy
4. el fef

Options:

648350732831
E4E35073284. 2
64535073285, o
4535073286, 4

Question Number : 68 Question Id : 64635018668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following 1s NOT a modern Aryan language?

1.  Khadi Boli
2. Braj Bhasha
3.  Bhumij

4. Awadhi

Options:

64535073287, 1
64535073288, 2
64535073289, 2
4835072290 4

Question Number : 68 Question Id : 64635018668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

70 3nyfie YR 31 YIS SIF-91 gl 87

1. wrarw
2. FO U
3. YH9
4. sadl

Options:

4635073287, 1
64535073288, 2
64535073289, 2
64535073290 4

Question Number : 69 Question Id : 64635018669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



An example of Ayogatmak language is

1. Tibetian—Syami

2

Arabic—Hebrew

3. Sanskrit—Hindi

4. Mundari—Santali

Options:

64535073291, 1
64535073292, 2
4835073292 2
45350732294 4

Question Number : 69 Question Id : 64635018669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SRS HINT &1 ISV DHIF-H1 82
1. fossdt-wr
2. Sl
3. Y%q-fel

4.  YUSRI-Hdrar
Options:
E4E25072281. 1
EABZ507 3292 2
E4E350732593. 3
645350732594 4

Question Number : 70 Question Id : 64635018670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R).

Assertion (A) : Ayogatmak language entails joiming of Prakrifi and Pratyay:.
Reason (R) : Because every word is not independent.
Select the correct answer from the options given below :

1. Both(A)and (R) are correct

2.  Both (A) and (R) are incorrect

3. (A)is correct, but (R) is incorrect

4. (A)is incorrect, but (R) is correct

Options:

4535073295,
4535073296,
64535073297,
64535073298,

e LI M

Question Number : 70 Question Id : 64635018670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2 3 HYF Ru e B oFH 9 ue e U= (A) 8 9iR g1 a9 (R) 81 4= &1 Ufey -
UBHYT(A) : SRS HTEISH A Ui 3R vead &1 9an g ¢
% (R) . FIfP v Vs Wad Tl gl ¢
2 feu T e 4 9 S SR :
. (A)3R(R) TFI & &
2. (A)IRR) A TEAE |
3. (A) W TG (R) T gl
4. (A)TEIB RYR) TEE |

Options:

64835073295, 1
E4E35073296. 2
64535073297, 5
645350723298, 4

Question Number : 71 Question Id : 64635018671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).

Assertion (A) : The meanings of words widely changes following change in political
sifuations.

Reason (R) : Because the basic sense is destroyed and the words are used in broader
sense.

Select the correct answer from the options given below :
1. Both (A)and (R) are correct
2 Both (A) and (R) are incorrect
3.  (A)is correct, but (R) is incorrect
4

(A)1s incorrect, but (R) 1s correct

Options:
4350732499 1

E4E3507 3200, 2
E4E3507 3201, 3
BAE3507 3202, 4

Question Number : 71 Question Id : 64635018671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9 Tl By feu e & 70 9 09 oifiey= (A) © ofR g a@ (R) 81 Ul &1 Uigu -
HYSYT(A) - Toriide ORI H 3R 81 o9 & SR Ieg) & 3T § 9ga uikad= g

T B

s (R) : ﬁ%%w@mwﬁaﬂ%@?wmﬂﬁﬁmﬁmmﬂsﬁ
UG

= feu o fyweni & 9 T IR

1. (A)SIRER) IFTT& &

2. (A)ARER) FHTEAE |
3. (AT R (R) T
4. (A)TEd B SIR(R) TE T |

Options:



EAE35073295. 1
64535073200, 2
64535073201, 3
64535073302, 4

Question Number : 72 Question Id : 64635018672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the correct sequence of the following?
1.  Expansion of meaning, Confraction in meaning, Transference of meaning
2. Contraction of meaning, Expansion of meamng, Transfer of meamng.
3.  Transfer of meaning, Expansion of meaning, Construction of meaning

4. Elevation of meaning, Deterioration of meaning, Expansion of meaning

Options:

64535073203, 1
64535073204, 2
648350732205 2
E4E35073206. 4

Question Number : 72 Question Id : 64635018672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Froafafed § 3 98 B4 SIF-31 82
1. o R, ord T, syt
2. i TeE o R, SR
3. oufew, o e, o 9o
4. Uty uiuey o fiwr

Options:

64535073203, 1
64535073204, 2
648350732205 2
E4E35073206. 4

Question Number : 73 Question Id : 64635018673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the correct sequence of consonant letters?
1.  Labial, Dental, Cerebral, Pallatal, Guttural
2. Labial, Cerebral, Guttural, Pallatal, Dental
3.  Lahal, Pallatal, Cerebral, Dental, Guttural

4. Pallatal, Guttural, Labial, Cerebral, Dental

Options:

64535073307, 1
64535073208, 2
645350733209, 2
48350722104

Question Number : 73 Question Id : 64635018673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o qul H Wel H SE-TI ¢ ?
1. 33y, T, g, aras, S
2. 3ireey, gieg, Hey, aae,
3. 3iSeY, dIad, HE, &, $53d
4. OGH, $34, ey, gu=, &

Options:

64535073207, 1
64535073308, 2
48350732209 2
45350723210, 4

Question Number : 74 Question Id : 64635018674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List—I List-II
(a) Bhavahrek (1) Mishra > Mishraa
(b) Asavdham (11) Nirgufa > Nirguna
(¢) Ashiksha (111) Lucknow > Nakhlau

(d) Imperfection of script (iv) Babu > Babua

Choose the correct option from those given below :
L. (a)(1); (D); (e)ii); (d)—iv)
2. (a)-@); ()-ui); ()-(v); (d)—1)
3. (ay(ut); (B)-av); (c)-); (d)-()
4. (a)-(v); (b)-(m); (c)-1); (d)—1)

Options:
64635073211, 1
64535073212 2

64535073213, 3
64535073214, 4

Question Number : 74 Question Id : 64635018674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 B 11 9§ gaferd s -
-1 Geil-11

(a) HETNS (1) fay > s
(b) @Y ) o> R
(c) 3rfRrem (i) OS> TEAS
(d)y o=t quﬂfﬂl (1v) 919 > Fg31

feu T fAoet § 3 I8 IR &1 997 B

L (a)-); (b)—1w); (c)-(m); (d)-(v)
2. (a)-(); (B)-(u1); (0)-Gv); (d—1)
3. (a)-(ui); (b)-Qv); ()-1); (1)
4. (a)-Qv); (b)-(ur); (c)-(1); (d)—1)

Options:

64635073211, 1
64535073312 2
64535073213 2
4835072214 4

Question Number : 75 Question Id : 64635018675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List-I with List-1II :

List—I List-1
(Theory of origin of language) (Propounder)
(a) Contact Theory (1)  Plato
(b) Gestural Theory (i1) Noire
(¢) Yo-ho-ho Theory (111) Dr Roye
(d)y Ding-Dong Theory (iv) G. Revesz

Choose the correct option from those given below :
L. (@)-v); (b)-(ur); (c)-(); (d)—1)
2. (a)id); (b)) (©)-D; (d-av)
3. (@) ()—H); (e)-v); (d)-w)
4. (@) (b)-v); (c)-(u); (d)-(11)

Options:

4535073315,
64535073216,
64535073217,
64535073218,

[ N

Question Number : 75 Question Id : 64635018675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



-1 &1 g1 3 gafed st
-1 TaAt-11
(T IR Rrg) (Tad)
(a) Hue e (@) i) @
(b) 3Ma g Ag) (i) =R
¢ smaFfigraEida di) sIW
(@) wE-Rgr @SS (iv) o as

U 7T RAmedi # 9 T8l ST T4 P ;

1. (a)-(v); (b)-(1); (e)}1); (d)—1)
2. (a)-(1); (b)-Hi1); (c)—(1); (d)-(v)
3. (a)-); (b)-); (e)-av); (d)—(u1)
4. (@)-(1), (b)—v); (e)-1ii); (d)—(ii)

Options:

£4835073315. 1

£4635073316. 2

64535073317, 3
E4E3507 3215, 4

Question Number : 76 Question Id : 64635018676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the main difference between a story and a novel?
1. Plot
2. Characterization
3. Milieu

4, Size

Options:
64635073219, 1
64535073320 2

6435073321, 3



EAE3507 3322, 4

Question Number : 76 Question Id : 64635018676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HEMT 3R U0 B §ioT 3fcR a1 27
1.  HYEH
2. IfRE-femo
3. oRaw
4. fa=r
Options:

E4E35073219. 1
BAE3507 3320, 2
64535073321, 3
E453507 3322, 4

Question Number : 77 Question Id : 64635018677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The language of which poet of Bhakti era has been called ‘Sadhukkan’ by Ram
Chandra Shukla?

1. Javasi
2. Kabir
3. Surdas

4.  Tulsidas

Options:

64635073223, 1
64535073324, 2
64535073325, 2
64535073326, 4

Question Number : 77 Question Id : 64635018677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3R T Yo 3 5 HiRTeTe Bia @) 4T &1 ‘GygPel’ Hel a7

1. oot
2. @HER
3. Y™

4. gaHSH

Options:

64635073223, 1
64535073324, 2
64535073325, 2
64535073326, 4

Question Number : 78 Question Id : 64635018678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What kind of book 1s the oldest book of Tamuil literature “Tolakappiam’?
1. Grammar and Laxan Granth
2. Religious
3.  Lyrical poem

4. A work on ethics

Options:

64535073327, 1
64535073328, 2
64535073329, 2
4835073232204

Question Number : 78 Question Id : 64635018678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e Tiied &1 UREiHaw Y ‘Saeiugy’ 59 TeR &1 3y 87

1. P07 3T AUy

2. it Ty
3. Tifde=
4, i IRE

Options:



EAE35073327. 1
BAE3507 3328, 2
64535073329, 3
64535073330, 4

Question Number : 79 Question Id : 64635018679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who 1s the first poet of Marathi literature in the Medieval Age?
1.  Sant Gnyaneshwar
2.  Namdev
3. Mukteshwar

4. Tukaram

Options:
E4E3E072321.

1
EAE3507 3332, 2
E4E3507 32333, 3
B4E35073234. 4

Question Number : 79 Question Id : 64635018679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A A3 9t & WUH Hid S 87
. HaTHR

Hwed

3. HEBR

4, gONM

2

Options:

64635073331, 1
64535073332 2
645350733332 2
E4E3507323224. 4

Question Number : 80 Question Id : 64635018680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).

Assertion (A) : From point of view of modern literature of drama, Oriya drama has
evolved very late.

Reason (R) : Because this late 1s attributed to the lack of Oriva stage itself.

Select the correct answer from the options given below :
1.  (A)isincorrect and (R) is correct
2. (R)isincorrect and {(A) 1s correct
3.  Both(A)and (R) are incorrect

4.  Both (A)and (R) are correct

Options:

E4E35073335. 1
64535073336, 2
64535073337, 2
64535073338, 4

Question Number : 80 Question Id : 64635018680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

R G oy RRu e B f59E § w aiffieys (A)  oiR gE1ad (R) B
IS YR(A) Sy Aew Tifed @1 2l | 3T e @ e Iga R Fgan g
& (R) . FiP 39 AT &1 SR I3T & 3= THA BT 34T §
= g MU e # 9 98 SR
. (A)Ted & SR (R) T B
2. (R)TEAR SR (A) T
3. (A)IR(R) I TEE B
4, (A)MMEP)SAIRE |

Options:
64535073335, 1



EAE3507 3336, 2
BAE35073337. 3
64535073238, 4

Question Number : 81 Question Id : 64635018681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

One of the oldest and rarest of the rare works in the world is
1.  The Ramayana
2. The Mahabharata
3.  The Rigveda

4.  The Bhagwat Puran

Options:

64635073259, 1
64535072240, 2
64535073241, =
645350732342, 4

Question Number : 81 Question Id : 64635018681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Y & yrRii=aw Sl § 9 ue road = S19-91 27
1. IEE"
2. HeMrd
3. FEg

4. HRTEd QIO

Options:

64535073339, 1
645350733240 2
6483507323241, 2
645350723242, 4

Question Number : 82 Question Id : 64635018682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who of the following is considered as the first poet in Sanskrit literature?
1.  Maharshi Ved Vvas
2. Mahakavi Valmiki
3.  Mahakavi Kalidas
4. Maharshi Vashishtha

Options:

645350732343, 1
4835073344 2
45350732245 2
6453507232346, 4

Question Number : 82 Question Id : 64635018682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T wifea § 3nfe 53 5 a1 o 82
1. HeNdg g
2. W dieAiie
3. UEwid Bite
4. el aRE

Options:

645350732343, 1
64535073344 2
6483507323245 =2
45350732246 4

Question Number : 83 Question Id : 64635018683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and the other labelled as
and Reason (R).

Assertion (A) : Human life 1s not like a wall that 1s likely to collapse in no time.

Reason (R) : Because 1t has stability and having potential to gwde the future
generation.

Select the correct answer from the options given below :
1. Both(A)and (R) are correct

2.  Both (A)and (R) are incorrect
3. (A)is correct, but (R) is incorrect

4. (A)1sincorrect, but (R)1s correct

Options:
E4E2E07332347. 1

E4E3507 3348, 2
E4E3507 32349, 3
645350732350, 4

Question Number : 83 Question Id : 64635018683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i gl By fGu e B, oFH 9 0P Sifiau= (A) B R gEU d® (R) B
@Y (A) : WFE SiaT i & JAF 2 & gees TR ST a5g e 2l

% (R) . it I9H Wit T o yidw & em=art dieal @& ug Ru= ot
AT |
e fou U e § 9 98 IR A -

1. (A) 3R (R) SHI T B
2. (A)IRR) T T B
3. (AL (R) T
4. (A)TTEd B (R) TR R

Options:
E4E35073347. 1

E4E3507 3348, 2



EAE3507 32349, 3
645350732350, 4

Question Number : 84 Question Id : 64635018684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s the correct sequence of composition?
1.  Kumarsambhav, Ritusanhar, Meghdoot, Raghuvansh
2. Ritusanhar, Meghdoot, Raghuvanash, Kumarsambhav
3.  Ritusanhar, Kumarsambhav, Meghdoot, Raghuvansa

4.  Meghdoot, Ritusanhar, Raghuvansh, Kumarsambhav

Options:

64635073351, 1
E4E35073352. 2
453507332532 2
64535072354, 4

Question Number : 84 Question Id : 64635018684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g8 1 HH 9 98 SI5-971 87

1. HRERE, BYHER, Hugd, AT
2. HIHER, NG, AT, FARERA
3. HPUCR, PHRERA, HYgd, gAY
4. HegE, BYHCR, AT, FARERE

Options:

64635073251, 1
64535073352, 2
64535073353 2
64535073354 4

Question Number : 85 Question Id : 64635018685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I List-II
(a) Atharvaveda (1)  Mantras of Deity
(by Samveda (1) Mantras of Udgata
(¢} Yajurveda (111) Mantras of Yajna
(d) Rigveda (iv) Vashikaran Mantra

Choose the correct option from those given below :
L. (@-av); (b)-u); (e)-(u1); (d)—(1)
2. (a)-(u); (D)), (e)-(1); (d-av)
3. (a)-(m); (b)-); ()-(1): (d)—(v)
4. (a)-); (b)-(v); (c)-); (d)~(11)

Options:

64635073355, 1
E4E35073356. 2
64535073357, 5
645350723358, 4

Question Number : 85 Question Id : 64635018685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 H1 FaI-11 I FHfera i
a1 a1

(a) Sfyddg (i) <gaFHA

(b) TWHdg (i) I H HA

© T9de (i) TS HI

(d) HEg (iv)y  axfiezorAg
H= fou v e H 9 9E I &1 99 S ;

L. (a)-v); (b)-(G1); (e)-(ii); (d)—1)
2. (a)-(); (b)—ii); ()—D); (d)-1v)
3. (a)-(uw); (b)-Q1); ()—1); (D-Gv)
4. (a)-(); (0)—~1v); (e)-(11); (d)—(1i)

Options:
E4E325073355. 1

E4E3507 35356, 2
BAE3507 3357, 3
645350732358, 4

Question Number : 86 Question Id : 64635018686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“Peepar paat saris man dola.” What is the sadharan dharma in this sentence?

1. Dola
2. Man
3.  Peepar
4.  Paat

Options:

64635073359, 1
64535073360 2
64535073361, 2



EAE3507 3362, 4

Question Number : 86 Question Id : 64635018686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“UIoR OTq-91 9 ST 39 a6 § JYR §H 1 872

1. s
2. H
3. W)
4. U@

Options:

64535073359, 1
64535073360, 2
48350733261 2
E4E3E5073262. 4

Question Number : 87 Question Id : 64635018687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following quotations of Milton about poetry is correct ?
1. Poetry is musical thought
2. A simple expression combined with an outburst of emotion is poetry
3.  Anintellectual interpretation of life 1s poetry

4. The language of imagination and emotions is poetry

Options:

64535073363, 1
4835073364, 2
E4E35073265. 2
64535073366, 4

Question Number : 87 Question Id : 64635018687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



firee &1 @1 & fawg | Fofifda 8 & oF-9 Fy= a8t 82
1. o iiiqng fEmR
2. HERS A ged 9 siftyefad sidar @
3. ol A Aige aren Hiaar €
4. B AR HIETSH B U Hidar 8

Options:

64635073363, 1
64535073364, 2
64535073365 2
4835073366, 4

Question Number : 88 Question Id : 64635018688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Where alphabets or words are repeated with different meanmings, which figure of speech
is used there ?

1.  Anupras
2. Slesh

3. Yamak
4. Upama

Options:

4635073267, 1
64535073368, 2
64535073369, 2
64535073370, 4

Question Number : 88 Question Id : 64635018688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



el onf @} firerar 3 T Ul a1 Tea ! B MG Til €, TET BIF-91 STHR ST 27

. e
2. =N
3. gD
4. JuEl

Options:

64535073367, 1
64535073368, 2
4835073369, 2
E4E350732270. 4

Question Number : 89 Question Id : 64635018689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the name of Anstotle’s book?

[ —1

The Republic
2.  Ars Poetica
3. Lyrical Ballads

4. Poetics

Options:

64535073371, 1
E4E3E5073372. 2
E4E350732732. 2
64535073374, 4

Question Number : 89 Question Id : 64635018689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3 & Y PHT AT T 82
1. 3 Rofie
2. omd grafder

3. feofved Sagw
4. URiceH

Options:

645350732371,
4535073372,
64535073373,
64535073374,

o LI M

Question Number : 90 Question Id : 64635018690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Given below are two statements one labelled as Assertion (A), and the other labelled
as Reason (R).

Assertion (A) : The most important component of poetry (Kavya) 1s the getting other
worldly pleasure.

Reason (R) : Because poetry gives knowledge of ‘do’s and ‘not to do’s besides
lesson.

Select the correct answer from the options given below :
8 (A) 1s correct, but (R) 1s incorrect
2. (R)is correct but (A) 1s incorrect
3.  Both(A)and (R) are correct

4. Both (A) and (R) are incorrect

Options:
E4E2E073375. 1

EAEZ507 3376, 2
EAE3507 3377, 3
BAE350732378. 4



Question Number : 90 Question Id : 64635018690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T gl By feu e € foFH | us 3Ny (A) B 3R gERI1a& (R) € -
AU (A) : HIA BT JaQ HEa@ QU a ¢ Ml g 1wl

% (R) . i B0 H IUST P ATE HIA-AHaA BT H I e g
== fou T fime & I 9 SR -
. (A TE 8, g (R) T 2l

2. (R)TEE RG(A) Tadg |
(A) 3R (R) T I €
4. (A)IR(R) I TEE B

e

Options:

64535073375, 1
64535073376, 2
E4E35073377. 2
E4E35073278. 4

Question Number : 91 Question Id : 64635018691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Given below are two statements one is labelled as Assertion (A) and the other as
Reason (R).
Assertion (A) : Muktak kavya 1s one which has no chronological relation.

Reason (R) : Because it is not complete in itself.

Select the correct answer from the options given below :

]

(A) 1s incorrect and (R) 1s correct
2. (A)1is correct but (R) is incorrect
3. Both(A)and (R) are correct

4. Both (A) and (R) are incorrect

Options:

64635073279, 1
64535073380 2
64535073381, 2



EAE3507 3382, 4

Question Number : 91 Question Id : 64635018691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R S ey Ruu 2 8 3w afeyT (A) ? SR gad (R) ® -
HUBYF(A) : Ha® B 98 ¢ forgd gar I8y 7 g

% (R) . P I8 3u=-3my § gt 7 eran 2|

=19 5T T e 7 8 T T
1. (A)7Tad g 3R (R) T 2

2. (A)FHE WY(R) TS |
3. (A)ARR) oA TS
4. (A) 3R (R) I Ted B

Options:

48350733791
E4E350732280. 2
4535073281, 5
64535073382, 4

Question Number : 92 Question Id : 64635018692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which is the right order?
1. Mammat, Vishwanath, Bharatmum, Jagannath
2. Bharatmum, Jagannath, Mammat, Vishwanath
3.  Bharatmum, Mammat, Vishwanath, Jagannath

4.  Vishwanath, Jagannath, Bharatmum, Mammat

Options:

64535073383, 1
64535073384, 2
6483507323285 2
45350732286 4

Question Number : 92 Question Id : 64635018692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T 8 1 87
1. H&e, Ay, W g, S
2. WX g, AN, AHc, [AYETy
3. WG g, "we, Ay, Sy

4. TAyY ST, YA g, e

Options:

64635073283, 1
64535073384, 2
64535073385, 2
4835073386 4

Question Number : 93 Question Id : 64635018693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is correct sequence of the following?
1.  Vaman, Mammat, Vishwanath, Bhamah
2.  Bhamah, Vaman, Mammat, Vishwanath
3.  Vaman, Vishwanath, Bhamah, Mammat

4. Mammat, Vaman, Vishwanath, Bhamah

Options:

4835073387, 1
64535073288, 2
645350723389, o
64535073290 4

Question Number : 93 Question Id : 64635018693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tl 3 H 1 87
1. 98, gHe, fayemy, HHg
2. Mg, 9, 9RTe, fagEmy
3. 9, fAYATY, HIHE, AR

4.  HWC, =, [y, 4TS

Options:

4835073387, 1
64535073288, 2
645350723389, o
64535073290 4

Question Number : 94 Question Id : 64635018694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List=II :

List-I List-II
( Propounder) (Theory)
(a) Bhamah (1)  Vakrokt
(b) Bharatmuni (ii) Dhawani
(¢) Anandvardhan (1) Rasa
(d) Kuntak (iv)  Alankar

Choose the correct option from those given below :
L. (a)-(v); (b)-(an); (c)i); (d)1)
2. (a)-(u); (b)-); (©)—1); (d)-av)
3. (a)-(1); (b)-); (©)—iv); (d)—11)
4. (@-Q); (b)-v); (o)-(ui); (d)~(1)
Options:
64635073391 1
64635073392 2

645350733393, 3
EAE3507 35394, 4



Question Number : 94 Question Id : 64635018694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1 31 g1 @ G SR

-1 G-I
ERED (e

(a) WM (1) goiiad g

(b) +RagH (ii) @i g

(c) oMcads (i)  EREN

(d) <o iv)  3doR g
feu 7T 3wy d 9 9t IR &1 997 ST :

1. (a)-Gv); (b)-in); (e)-(i); (d)~D)
2. (a-(u), ()-(1); ()-(1); (d)—v)
3. (a)-{b); (b)) ()iv); (d)ii)
4. (a)-@); (B)-Qv); (¢)-ii); (1)

Options:

64535073291, 1
64535073392 2
648350733292 2
645350723294, 4

Question Number : 95 Question Id : 64635018695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-I List-II
(a) Upamay (1) The equivalence of upamay and upaman
(by Upaman (11) A quality which both have in common

(¢) Sadharan Dharma  (i11) With which it 1s compared

(d) Sadrishya Vachak  (iv) The thing that is compared with another

Choose the correct option from those given below :

L (a)-(v): (b)Gin); (e)~(i); (D)~1)

2. (a)-(u); (b-); (—1); (d-av)

3. (a)-); (D)-); (©)-(v); (d)-(m)

4. (a)-Q); (b)—w); ()-(m); (d)-av)

Options:
64635073395
64635073396,

EAE3507 3397,
B453507 3398,

[ R

Question Number : 95 Question Id : 64635018695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Teil-1 &t g=i-11 9 gafea Sifom
-1 -1

(a) TUHG 1)  THY-SUNE S 9Ha

(b) ITER (i) SHIYUIEIHEA

(¢) YR 4H (i)  forgs Ium at 9w

(d)y I=I=D (iv)  forge! 3o < e
feu U faser H | UEl IR &1 99 BT

L (a-(v); (b)-u); (c)-); ()—1)
2. (ay-(m); (b)-(11); ()—D); (d)-Ov)
3. (a-(w); (B)-1); (©-w); (d)-(u)
4. (a)-); (D)~1); (c){1i); (d)-v)

Options:

645350732395, 1
64535073396, 2
48350733297, 2
45350732298 4

Question Number : 96 Question Id : 64635018696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who 1s the author of “JTharkhand Ka Lok Sangeet’?
1.  Dr. Ram Dayal Munda
2. Dr. B. P. Keshari
3. Dr. Giridhari Ram Gaunjhi “Giriraj’
4. Dr. Bhuvaneshwar Anu
Options:
64635073399 1

64535073400, 2
E4E35073401. 3



EAE3507 3402, 4

Question Number : 96 Question Id : 64635018696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"PRES BT Al Ta" & AGD D &7
1. Sl IHcard HUSI
2. SLaEtd R

Options:
E4E350733499. 1

E4E3507 3400, 2
E4E3507 3401, 3
BAE3507 3402, 4

Question Number : 97 Question Id : 64635018697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who 1s the author of “Sarna Sangeet’?
1.  Nikodim Kerketa
2. Shri Budu Babu
3. Baldeo Munda

4. Bisu Lakra

Options:

64535073403, 1
E4E350732404. 2
E45350723405. 5
64535072406, 4

Question Number : 97 Question Id : 64635018697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2. ATy
3. gded gusl
4. fagdser

Options:

64535073403, 1
64535073404, 2
648350732405 2
45350732406, 4

Question Number : 98 Question Id : 64635018698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following has used the term *Gram Geet’ in place of Lokgeet?
1. Mohan Knshna Dar
2. Hazan Prasad Dwivedy
3.  Pt. Ram Naresh Tripathy

4. Devendra Satyarthy

Options:

64635073407, 1
64535073408, 2
64535073409, =
4835072410 4

Question Number : 98 Question Id : 64635018698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et & == o am M’ &1 v 3 | feg fear €2
HIE $ R

ToR vg, fdel

3. O IRy RAuEt

4. o= gt

f—

!'-.J

Options:

64535073407, 1
64535073408, 2
E4E35072409. 2
4535072410 4

Question Number : 99 Question Id : 64635018699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Sarhul folk tale 1s of what kind?

1.  General
2. Religious
3.  Farytale

4, Historical

Options:

64535073411, 1
64535073412, 2
648350732412 =2
4535072414 4

Question Number : 99 Question Id : 64635018699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. IE=
2.  uiffe
3. Th

4. ufoeye

Options:

64635073411, 1
64535073412 2
64535073413 =
4835072414 4

Question Number : 100 Question Id : 64635018700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R} :

Assertion (A) : Human being is the creator of culture.
Reason (R} : Because culture 1s his personal achievement.
Select the correct answer from the options given below :

I (A) 1s correct but (R) 1s incorrect

2. (A)isincorrect, but (R) 1s correct

3.  Both(A)and (R) are incorrect

4. Both (A) and (R) are correct

Options:

648350734151
45350732416 2
645350723417, 5
64535072418, 4

Question Number : 100 Question Id : 64635018700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e g1 By fou Y B, oM 9 09 ey (A) § IR g dd (R) §:
IBUT(A) . TS Sepfa-fmtan proft 21

& (R) . i Sl I A=t el Suwfed B
= feu U fAeedl H 9 9l S

. (&) T T R) TG T

2. (ATTER) W2

3. (A)AR(R) o If T &

4. (A) R (R) I T T

Options:

648350734151
45350732416 2
64535073417, 5
64535072418, 4

Question Number : 101 Question Id : 64635018701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : Folk songs predominantly reflect cultural life.
Reason (R)  : Because it is a performing art.
Select the correct answer from the options given below :

L. (A) 1s correct but (R} is incorrect

2. (A)isincorrect, but (R)is correct

3.  Both(A) and (R) are correct

4. Both (A) and (R) are incorrect

Options:

64635073419, 1
64535073420 2
64535073421, 2
E4E35073422. 4

Question Number : 101 Question Id : 64635018701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

1 3wy feu T B v @ ue afifeu (A) B IR gR1dd (R) B -
afmYE(A) ;- Aedl B gisie sia vekar 8 geiid g 2
% (R) . % I8 T 1A T
= fu e faeedl # 9 98 WA

L ()R R) T

2. A)TETER) T

3. (A)R(R) T G gl

4. (A) 3R (R) GFI Ted I

Options:
435073419,

1
EAE3507 3420, 2
EAE35073421. 3
BAEZ507 3422, 4

Question Number : 102 Question Id : 64635018702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the correct sequence of the musical instruments in ascending order according to
their size?

1.  Dholak, Dholaki, Dhank, Dhol
2.  Dhol, Dholaki, Dhank, Dholak
3.  Dholaki, Dholak, Dhol, Dhank
4.  Dholaki, Dhank, Dholak, Dhol

Options:
E4E2E07342=2. 1

EAE3507 3424, 2
EAE3507 3425, 3
BAE3507 3426, 4

Question Number : 102 Question 1d : 64635018702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



arEt B B Y 93 BH B BT 98 87
1. Tld®, casl, 3o, elds
2. 39, 3w, 31, Sla®
3.  QIdol ald®, oid, alh
4. CaDl, TS, Bled, e

Options:

64835073423 1
E4E35073424 2
64535073425, o
4535073426, 4

Question Number : 103 Question Id : 64635018703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the correct sequence of the folk ragas according to seasons?
1. Fagua, Udasi, Pawas, Bhadaria
2. Pawas, Udasi, Bhadaria, Fagua
3.  Bhadana, Fagua, Udasi, Pawas

4. Udasi, Pawas, Bhadana, Fagua

Options:

64635073427, 1
64535073428, 2
64535073429 =
64535073430 4

Question Number : 103 Question 1d : 64635018703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qre & feaE @i W @1 91 HE a1 87
1. IS, IG, urad, HeRa
2. UEY, IR, Helan, wien
3. yehE, wen, Sars, urad
4. oM &, Yo, B
Options:

E4E35073427. 1



EAE3507 3428, 2
BAE3507 3425, 3
64535073430, 4

Question Number : 104 Question 1d : 64635018704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List—II :

List—I List—II
(Language) (Language Famly)
(a) Mundarn (1) Dravid
(b) Kurukh (i) Chinese
(¢) Nagpun (111) Austrk
(d) Burmese (1v) Aryan

Choose the correct option from those given below :
L (a-); (B)-(u); (©)—~(n); (d)-av)
2. (a)y-u); (b)~v); (¢)-Q); (d)~u1)
3. (a)-); (b)-Q); (e)~w); (d)—1)
4. (a)-v); (b)-(1); (¢)-(@); (d)~Hnu1)

Options:

64535073431, 1
E4E35073432. 2
4535072422 2
64535072424, 4

Question Number : 104 Question Id : 64635018704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 &1 -1 | gAfera i
a1 Tat-11

(HTST) (HYT-TRER)
() HUSH (1) EIEE]
(b Fsd@ (i) =
(¢) =rgd (i)  SifR®
(@) auf (iv)  omd
4 feu 7o fowey # 9 9 ST @1 999 S ;

L. (a)-@); ()-i); (e)H1); (d)—-Gv)
2. (a)-(i); (b-v); (c)-1); (d)-(11)
3. (a)y-(u), (B)-Q); (¢)-Qv); (d)—um)
4. (a)-(wv); (b)—-(w); (¢)-Q); (d)~(1m)

Options:

645350734311

GAR3E07 3422 2

E4E3507 3433, 3
EAE3507 3424, 4

Question Number : 105 Question Id : 64635018705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List=II :

List-I List—II
(Dance) (Tribe)
(a) Gena Dance (1)  Santhal
(b) Daram Dah (11) Munda
(¢) Hero Dance (1) Uraon
(d) Faggu Khaddi Dance (iv) Ho

Choose the correct option from those given below :
1. (a)y-(u); (b)-av); (e)-(1); (d)—1)
2. (a)-();, (WD); (@iv); ()G
3. (a)-Q); (b)-n); (c){1ir); (d)-(1v)
4. (a)-(v); (b)-(1); ()-i); (d)iii)
Options:
64635073435, 1
64635073436, 2

E4535073437. 3
E4E3507 34358, 4

Question Number : 105 Question Id : 64635018705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(@) THITA (i) S|

() TREGE: (i) goaT

(c) I (i) <TUa

(d) ®TE T iv) &
= feu e faey | 9 9gl IR S99 Sifeu

1. (a)-(m); (b)—-(v); (c)—-(1); (d)—~1)

2. (aQ); (b)-); (©)-v); (d)-ui)
3. (a-); (b)—1); (o)u1); (d)-av)
4. (a)-Qv); (0)-Q); (e)-Q); (d)-()

Options:

4635073435, 1
64535073426, 2
64535073437, 2
64535073435, 4

Question Number : 106 Question 1d : 64635018706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The transient beauty of nature has been the basis of the freshness of which of the
following?

1. Folk arts
2. Folk festivals
3.  Folk music

4. Folk life

Options:
64535073439, 1



EAE3507 3440, 2
64535073441, 3
BAE3507 3442, 4

Question Number : 106 Question 1d : 64635018706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

yoid @1 3+ Figd foue! aiaeri &1 SR I8 82

1. e
2. ®Wew

3. e i
4. i SiaA

Options:

64535073439, 1
64535073440 2
48350732441, =2
45350732442 4

Question Number : 107 Question Id : 64635018707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which form does the history of JTharkhand travel in the collective memory of people
generation after generation?

1.  Written history
2. Rock edicts
3.  Mythology and folklore

4. Mantras

Options:

64535073443, 1
64535073444 2
64835073445 =2
64535072446, 4

Question Number : 107 Question Id : 64635018707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



forg ®U B FREUS &1 e e wiaal & dt-g2- 1) amn s 82

1. fofea sfaes

2. RendE

3. Ty oR fHagt~at
4. WA

Options:

64635073443, 1
64535073444 2
64535073445 =
48350732446 4

Question Number : 108 Question Id : 64635018708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following natural forces the tribal community was unable to get the hang
of?

k. Gods
2 Goddesses
3. Ghosts

4. A mystery

Options:

4635073447, 1
64535072448, 2
64535073449 =
64535073450 4

Question Number : 108 Question Id : 64635018708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3nfearst aqer o fory Uiefde widadr e of, ford gee= H 4 3wy 47
. &=
1.

3. uyd
4. UHEY

Options:

64535073447, 1
64535073448, 2
64835072449 =2
45350732450 4

Question Number : 109 Question Id : 64635018709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What did the people want to do with the nature in Jharkhandi culture?
1.  Subdue it
2. Live in harmony with 1t
3. Defeatit
4. Fearit

Options:

64635073451, 1
64535073452, 2
64535073453 =
48350732454 4

Question Number : 109 Question Id : 64635018709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PREUS! TEpia A ToHid | Sa1 a1 ST gt oi?
1. fafsa s
2. HItd S

3. OYIeld S

4. HAHA

Options:

648350734511
4535073452 2
64535073452, o
64535072454, 4

Question Number : 110 Question Id : 64635018710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other as Reason
(R).
Assertion (A) : Culture 1s a way of life which has not been inherited by man from his
ancestors.
Reason (R) : Because culture provides man with an elevated level of living.
Select the correct answer from the options given below
L. (A) 1s incorrect and (R) is correct
2 (A)1s correct, but (R) is incorrect
3. Both(A)and (R) are correct
4 Both (A) and (R) are incorrect

Options:

64635073455, 1
64535073456, 2
64535073457, 2
64535073458, 4

Question Number : 110 Question Id : 64635018710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



9 By R e € R | ue 3fieuT (A) B 3R gaad (R) 2
HUHYT(A) : TP 98 oita= el 8 o o gdell | WE0r Har el omn g
s (R) . S TIPHid Ao 1 SitgT o1 &1 Us 3= YTE HiH veH &l 2|

T ST
1. (A)TEd g (R) TE R

2. (A)TRETR) TEAE |
3. (A)3RER) < TEIEl
4. (A) 3R (R) G e B

Options:

64635073455, 1
64535073456, 2
64535073457, 2
64535073458, 4

Question Number : 111 Question 1d : 64635018711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : There 1s no written form of traditions.

Reason (R) : Because they live in people’s minds like history and are not recalled
when needed.

Select the correct answer from the options given below :
Both (A) and (R) are correct
Both (A) and (R) are incorrect

—

2
3. (A)isincorrect and (R) 1s correct
4 (A) 1s correct and (R) 1s incorrect
Options:
64635073459, 1
64635073460, 2

EAE3507 3461, 3
EAEZ507 3462, 4

Question Number : 111 Question Id : 64635018711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



R Doy RRumu § e 3w afliey= (A) B iR g1 ad (R) €
MUBYT(A) : TUISH &1 Bl i &9 a1 gl

@ (R) . it d G & WG A S @ dRE OH WEdl € SR A Ue
TR TR0 T gl §
# fon o el A TR TR

. (A) IR (R) < T8I &
2. (A)SR(R) T AL |
3. (A)TAE(R) HElE
4. (A)FEER) TEE B

Options:

64535073459,
4835073460,
4835073461,
64535073462,

o IR

Question Number : 112 Question Id : 64635018712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the months which 1s the correct order?
1.  Tangimnath Mela, Rathyatra, Mudma Mela, Ramrekha Mela
2. Rathyatra, Mudma Mela, Ramrekha Mela, Tanginath Mela
3.  Mudma Mela, Ramrekha Mela, Tanginath Mela, Rathyatra

4. Ramrekha Mela, Tanginath Mela, Rathyatra, Mudma Mela

Options:

4635073463, 1
64535073464, 2
64535073465 =
64535073466, 4

Question Number : 112 Question 1d : 64635018712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



74 HEH & YR R 9 HH B 87
1. 1Y e AT, GSH1 Ha, JTERE 3l
2. TG, SHI A, IEIE] Hal, Y Jel
3. TSHHS, JHESE HEl, AT Ha, EE
4. THLE HAT, T BE, JYEET, gSHT Hl

Options:

4835073463,
4535073464,
4535073465,
64535073466,

o LIRS

Question Number : 113 Question Id : 64635018713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the Adi Dharma which is the correct order?
1.  Ritu Chakra, Anushthan Chakra, Parmeshwar, Prakriti, Kala Chakra
2. Anushthan Chakra, Parmeshwar, Prakriti, Ritu Chakra, Kala Chakra
3.  Parmeshwar, Prakriti, Ritu Chakra, Anushthan Chakra, Kala Chakra
4. Praknti, Ritu Chakra, Anushthan Chakra, Parmeshwar, Kala Chakra

Options:

64635073467, 1
64535073468, 2
64535073469, 2
48350732470, 4

Question Number : 113 Question Id : 64635018713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3T & & SR T8l HH HH-91 82
1. g 9%, 3FFH 9%, WHR, Wi, Hal 9%
2. IEF =, WHAR, USld, g %6, ol I
3. TR, USid, g 9%, P 9%, Hell 95
4. YDA, Hg 9, IR IH, AW, HA 95

Options:



EAE3507 3467, 1
64535073468, 2
645350734645, 3
64535073470, 4

Question Number : 114 Question 1d : 64635018714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II

List-I List—II
(God) (Believers)
(a) Sirma Singh (1)  Khadia
(b) Dharme { Dharmesh) (i) Sadaan
(¢) Ponomesar (1) Munda
(d) Mahadev (1iv) Uraon

Choose the correct option from those given below :
(a)-(1); (b)-1); (0)(m1); (d)-(v)
2. (ay-); (D)-i); (-G}, (DD
3. (a)-(m); (B)-(v); (c)-Q); (1)
4. (a)-(v); (b)-Q); (c)-(1); (d)~(1m1)

—_

Options:
45350723471, 1

EAE3507 3472 2
BAE35073473. 3
B4E3507 3474, 4

Question Number : 114 Question 1d : 64635018714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 31 11 D AR BT

Teft-1 -1
@) GIEEEI)

(@) R i st

(b) o () i)  HeH

(¢) UFMR (111) HUST

(d) wera (iv) o4
id feu U fdeey # 9 98! SR &1 99 Sifod :

L. (a)-1); (b)-1); (¢)-i1); (d)-(v)

2. (a)y-(u); (B)—u); (e)-(v); (d)-1)
3. (@-(u); (D-v); (-1 (D)
4. (a)-v); (b)) (e)-); (d)-(um)
22221555?34?1_ 1
64635073472, 2
64635073473, 3
64635073474. 4

Question Number : 115 Question Id : 64635018715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I List-II
(Marriage Rituals) (Caste/Community)
(a) Arandi (1) Uraon
(b) Benja (1)  Santhal
(c) Biha (1) Munda
(d) Bapla (iv) Sadan

Choose the correct option from those given below :
L. (a)-); (b)—v); (e)-(); (d)~m)
2. (a)-(u); (b)-1); ()-(v); (d)-(11)
3. (@-v); (b)-(b); (e)-id); (D)
4. (a)-(i); (b)i); (-1 (d)—1v)

Options:

64535073475, 1
64535073476, 2
E4E35073477. 2
645350723473, 4

Question Number : 115 Question Id : 64635018715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 & ga-11 9 gafoa o1

(faars T R) CUVEE )
(@) ofsa @ 3
(b) (i)
(c) famr (i)  HoST
(dy d<rgen (iv) AL
=t fu U fdeed H 9 98 IR &1 99+ Sifor :

L (@)@ (D)-v); (o)), (d)i)
2. (i), (0)-1); (©—1v); (i)
3. (@)-v); (b)-Gi); (e)iii); (1)
4. (a)-(b); (b)~(ui); (e)~(1); (d-Gv)

Options:

E4E35073475. 1
64535073476, 2
64535073477, 2
64535073478, 4

Question Number : 116 Question 1d : 64635018716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s the loudest musical instrument?

1. Kendra

2. Murah

3.  Narsingha
4. Soikho

Options:
64535073479, 1
645350723480, 2

64535073481, 3



EAE3507 3482, 4

Question Number : 116 Question Id : 64635018716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFrofafEd § 2 999 A7 1A ITe 9 HH-91 87
BT

2w

3. W

4. Hz@

Options:

64535073479, 1
64535073480, 2
64835072481, =2
4535072482 4

=

Question Number : 117 Question Id : 64635018717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is the wind instrument?

1. Nagara
. Ektara
3.  Chorchorn

4. Mohanbansi

Options:

645350734583, 1
483507324384 2
45350732485 =2
6453507234586, 4

Question Number : 117 Question Id : 64635018717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fofafed | 9 g are SH-91 87
1. et
2. Uodri
3. G
4. wigTand

Options:

64535073483, 1
64535073434, 2
64835073485 2
E4E3507324586. 4

Question Number : 118 Question Id : 64635018718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s the dance related to Veer Rasa?
1.  Orjadur Dance
2. Mardani Jhoomar Nritya
3.  Kinbhar Dance

4, Matha Dance

Options:

64535073487, 1
E4E35073488. 2
6453507234589, 5
64535072490 4

Question Number : 118 Question Id : 64635018718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fofafaa 8 8 3R W 3 iR T3 a-91 82
1. 3RSigR 7d

2. HGH R TA
3. fEAwRTa
4. HBITE

Options:

64535073487, 1
645350734388, 2
E4E350732489. 2
4535072490 4

Question Number : 119 Question Id : 64635018719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Where did the Kolabar and Sohrai art form develop?
1.  Gumla
2. Simdega
3.  Hazaribagh

4.  Dumka

Options:

64635073491, 1
64535073492, 2
64535073493 =
4835072494 4

Question Number : 119 Question Id : 64635018719 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I L

2. fymsm
3. EoRlEnT
4.  gHSI

Options:

64535073491, 1
64535073492 2
E4E350732492. 2
4535072494 4

Question Number : 120 Question Id : 64635018720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Godna is a beautiful ornament of the tribals Sadan.
Reason (R)  : Because it reveals their ancient fribal traditions.

Select the correct answer from the codes given below :

—

Both (A) and (R) are correct
2. Both(A)and (R) are incorrect
3. (A)is cormrect and (R) 1s incorrect

4. (A) 1s incorrect and (R) 1s correct

Options:

64535073495, 1
48350732496 2
45350732497 2
64535072498, 4

Question Number : 120 Question Id : 64635018720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



19 g wy= fou B RFH 9 us iy (A) B SR o1 dd (R) B
AYBYT(A) : Tie NfEaRi-Tom & ol BT TSR e 2|
% (R) . i 599 379! SIRIAAT U3 W1 B URAR] 1 Ul 9ad ¢ |
<t fom o fee 7 § T8 TR T

. (A) 3R (R) GHI T B

2. (A)SR(R) TEITEAE |

3. (A)FETIRR) @A

4. (A)TeE g 3R (R) WE R

Options:

64535073495, 1
64535073496, 2
64535073497, 2
64535073498, 4

Question Number : 121 Question 1d : 64635018721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(iven below are two statements, one labelled as Assertion (A) and the other as Reason

(R).
Assertion (A) : The Chau masks are prepared from mud, paper, cloth, colour etc.
Reason (R) : These makes the masks strong and heavy.

Select the correct answer from the options given below :

it

Both (A) and (R) are correct
2. Both (A) and (R) are wrong
3. {A)is correct and (R) 1s wrong
4, (A) 1s incorrect and (R) 1s correct
Options:
64635073499, 1
64635073500, 2

E4E3507 3501, 3
EAE3507 3502, 4

Question Number : 121 Question Id : 64635018721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

R 3l By fRu e & R @ ue afeuw (A) & iR ga1ad (R) B
HYBUT(A) : BS TA S g Mg, srre, Hug, 1 onfe | 49R e s €|

5 (R) . T TR Aol SR R 8 o B
2 feu o fowedl § 9 9 SR
1. (A)3MR(R) gFI gt 81

2. (A)3R(R) ST E |
3. (A)F@ R (R) Tad I
4. (A)TEd R 3R (R) TE B

Options:

E4E350734599. 1
64535073500, 2
64535073501, 5
64535073502, 4

Question Number : 122 Question Id : 64635018722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following things made of bamboo in ascending order of their size :
1.  Daura, Supali, Toki, Nachu (Nachua)
2. Nachu (Nachua), Daura, Supali, Toki
3.  Toki, Nachu (Nachua), Daura, Supali

4. Supali, Toki, Nachu (Nachua), Daura
Options:
£4635073503. 1
64635073504, 2
64635073505, 3
64635073508, 4

Question Number : 122 Question 1d : 64635018722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



T4 | F9-aTd 37 9HFT B Bic § T & HH A Faied Hiion ?
1. R Yoel, S, A (T
2. TR (FEE, TR, U, <l
3. T, L (FEA aR, goe
4. gueh, 39, TR (FEAn, SR

Options:

64535073503, 1
64535073504, 2
64535073505 2
4835073506, 4

Question Number : 123 Question Id : 64635018723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s the correct order from strong to weak art?
1. Bamboo, Wood, Fibre, Stone (all arts)
2. Fibre, Bamboo, Wood, Stone (all arts)
3.  Wood, Bamboo, Fibre, Stone (all arts)

4. Stone, Wood, Bamboo, Fibre (all arts)

Options:

64535073507, 1
64535073508, 2
64535073509 2
64835073510 4

Question Number : 123 Question Id : 64635018723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3 Ooled § SHOIR Ha H1 HH DI 87

1. §i9, STE, 3=, o (G S
37, ST, 1Y, Ut (G e
1Y, 919, 3=, UTSTor (gt e

Bowow

UTSTUT, 1N, F14, 3T (FH e

Options:



EAE35073507. 1
64535073508, 2
64535073508, 3
64535073510, 4

Question Number : 124 Question 1d : 64635018724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—1 with List—II :

List—I List—II
(Sports) (Place)
(a) Nakdubki (i)  Athome
(b) Dolpati (11)  Inthe aftic
(¢) Gulh danda (iii)  Onthe tree
(d) Lukahhipi (iv)  Inthe pond

Choose the correct option from those given below :
L. (a)-(v), (b)-(ii); (c)—i); (D)
2. (a)-(u); (b)-(); (c)-(); (A)-(v)
3. (&) (b)) (e)Hiv); (d)iii)
4. (@)-); (b)—m); (c)11); (d)-(v)

Options:

64835073511, 1
4535073512 2
64535073512,
64535073514, 4

Question Number : 124 Question Id : 64635018724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a1 Bt 11 F gaferd s
-1 -1

@ (=)
(a) THgED! ® WA
(b) Sreorwit i) cisH
() T geT (i) TS
(d) -t (iv) e |
= feu o o el 7 9 I8t IR %1 99 S ¢

=]

(a)-(1v); (b)-(u11); (e)-(11); (d)-(1)
2. (a)y-(ui); (b)-(i); ()-(1); (d)-av)
3. (a)y-(); (D)1); (0)-v); (d)—m)
4. (a)-(); (b)-w); (c)-(n); (d)-v)

Options:
45250735111

EAE3507 3512, 2
E4E3507 3513, 3
B4E35073514. 4

Question Number : 125 Question 1d : 64635018725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II :

List-I List-II
(Ornaments) (Body parts)
(a) Khongso (1)  Neck
(b) Bera (11)  Feet
(¢) Panchori (i)  Khopa (hairbun)
(d) Hansuli (iv)  Hands

Choose the correct option from those given below :
L. (a)-Qu); (b)-Gv); (c)-); (1)
2. (a-(v); (0)-(); (c)-(i); (d)(1i1)
3. (a)-@); (b)-1); ()-D); (d)-(v)
4. (a)-@); (0)-); (0v); (d)~1u1)

Options:

64535073515, 1
64535073516, 2
64535073517, 2
4535073518 4

Question Number : 125 Question Id : 64635018725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 S -1 F gaferd s
a1 Gat-11

(TE) (R ¥ 3
() T @ T
(b) U i W
©) U (i) @ EE)
(d) Bged iv) B
=t feu U foe et / 9 T8t 3T &1 999 i

i

(a)—(111); (D)-(v); ()-(i); (D))
2. (aQv); (b)-Q); (¢)-(); (d)-(u1)
3. (a(m); (b)-1); (¢)-(1); (d)-(v)
4. (a)y-(); (D—1); (0)-v); (d)u1)

Options:

64535073515, 1
64535073516, 2
64535073517, 2
4535073518 4

Sub-Section Number: 3
Sub-Section I1d: 646350923
Question Shuffling Allowed : Yes

Question Number : 126 Question Id : 64635018726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Tana Anadolan” was influenced by :
1.  Mahatma Gandhi

2. Subhash Chandra Bose
3. Bal Gangadhar Tilak

4.  Vinoba Bhave

Options:
4535073519 1

E4E3507 3520, 2
EAE3507 3521, 3
BAE3507 3522, 4

Question Number : 126 Question Id : 64635018726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T SHTateH" fra wIiad uT?
1. Hewr e
2. JgUE IR I
3.  S@TmR fOae

4. farETHE

Options:

64635073519, 1
64535073520, 2
64535073521, 2
64535073522 4

Question Number : 127 Question 1d : 64635018727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who was the hero of Chuad Revolt?
1. Gaya Munda
2. Poto Sardar
3.  Raghunath Mahto

4. Tikat Umraon Singh



Options:

64535073523, 1
4835073524 2
4535073525 2
64535073526, 4

Question Number : 127 Question Id : 64635018727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

33 fa%E & HeMIae & U7
1. T gust
2. URIEGER
3. gAN AEdl

4, fehasmiafie

Options:
4535073523 1

EAE3507 3524, 2
EAE3507 3525, 3
BAE3507 3526, 4

Question Number : 128 Question 1d : 64635018728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the brave son of the soil of Jharkhand, who had set up a mulitant urit “Jodi
Panchayat’ in each and every village?

1. Tikait Umrao Singh

2. Gaya Munda
3. Telanga Kharia

4. Tilka Manjhi

Options:
4235073527, 1

EAE3507 3528, 2
BAE3507 3525, 3
64535073530, 4

Question Number : 128 Question 1d : 64635018728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PREUS ¥ 59 4R YU = 83 9 § TS5 3T Wel vuRd’ St 4
1. foda 3uvm fiig

2. TETHUSET
3. dom @
4. force wigh

Options:

64535073527, 1
E4E35073528. 2
64535073529, 5
64535073520 4

Question Number : 129 Question Id : 64635018729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When is the “Hul” Day observed?

s 15 November

2 30 June
3. 14 Jamuary
4. 9 June

Options:

64535073531, 1
64535073532 2
6483507353232 2
4535073534 4

Question Number : 129 Question Id : 64635018729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



B9’ &9 e gmar o1 27

1. 157 =R
2. 30 9
3. 14 5aEd
4. 9FH

Options:
6453507355101

EAE3507 3532, 2
E4E3507 3533, 3
B4E35073534. 4

Question Number : 130 Question Id : 64635018730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Given below are two statements. One 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) : In order to be acquainted with the society thoroughly, knowledge of
ancestors 1s essential.

Reason(R) : Because they have sacrificed for the country.

Choose the correct answer from the options given below :

[

(A)1s correct, but (R) 1s incorrect

2. (R)is correct, but (A) is incorrect

3. Both(A)and (R) are incorrect

4.  Both (A)and (R) are correct

Options:
64535073535, 1
64535073536 2

EdBZ50735537. 3



EAE3507 3538, 4

Question Number : 130 Question Id : 64635018730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= Sy Ry € o @ ue aifiey= (A) 2 3R ga1d® (R) 2 -

IYFYT(A) : THIS S T9Y H guia: TR eF & e Udeil & SeY H ST S1a=aa ¢
@ (R) . T IR S0 <X & oY AT T SfeeH & gl
e feu mu foweni O € 98 IR I

1. (A)FE & Qi (R) Terd 2|

2. (R) I E A= (A) TE B

3. (A) SR R) T Tad g

4. (A)3R(R) T T8I &

Options:

64535073535,
64535073536,
E4E3507 3537,
4635073538,

o I P

Question Number : 131 Question Id : 64635018731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements. One is labelled as Assertion (A) and other is labelled
as Reason (R).

Assertion (A) :  Martyr Jatra Bhagat was the hero of nonviolent movement.
Reason(R) : Because he defeated the enemy with his bows and arrows.
Choose the correct answer from the options given below :

1. (A)is correct, but (R) 1s incorrect

2. Both(A)and (R) are correct

3.  (A)isincorrect, but (R) is correct

4.  Both (A) and (R) are incorrect

Options:

64535073530,
64535073540,
64535073541,
E4E35073542,

[ N

Question Number : 131 Question Id : 64635018731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 3wy feu T B R A ue sty (A) B SR T ad (R) 2
HYBUT(A) . eSO T SfETETE Saie & qeFas U

% (R) . I Fei 3N AR-4Y I gRA-1 I U B e ot
= feu U fawed ° 1 95t SR

. (A) TR R ((R) T 2|

2. (A ARR) IH T T

3. (A)THA e SR R) FE 2

4. (A) AR (R) S e gl
Options:

E4E25073535. 1
E4B2507 3540 2
EAE35073541. 3



EAE3507 3542, 4

Question Number : 132 Question Id : 64635018732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the correct sequence of the period of emergence of these martyrs of Jharkhand?

1. Veer Budhu Bhagat, Telanga Khana, Vishwanath Shah Deo, Birsa Munda

=

Telanga Kharia, Birsa Munda, Veer Budhu Bhagat, Vishwanath Shah Deo
3.  Birsa Munda, Vishwanath Shah Deo, Telanga Kharia, Veer Budhu Bhagat

4. Vishwanath Shah Deo, Telanga Kharia, Veer Budhu Bhagat, Birsa Munda

Options:

64535073543, 1
64535073544 2
64835073545 =2
4535073546 4

Question Number : 132 Question Id : 64635018732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FREUS & TEIal & 3NfaHia o1 & T8 HH H UgaH Hi—
1. dR Y YTE, JE @iean [Ty 8 3, R gost
2. o wfsa, ST qust, dR gy HG, [y 28 4l
3. T que, fRy=ry 2me <3, aam atean, IR gy W

4. Ty I0g <3, dam @igan, dR gy e, e guet

Options:

64535073543, 1
64535073544 2
64535073545 =2
4835073546 4

Question Number : 133 Question Id : 64635018733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange in the correct sequence of the movements led by the great martyrs of
Jharkhand?

1. Chuad, Tana Bhagat, Birsa, Chero

2. Chuad, Chero, Birsa, Tana Bhagat

3. Birsa, Tana Bhagat, Chero, Chuad

4. Chero, Chuad, Tana Bhagat, Birsa

Options:

64535073547, 1
E4E35073548. 2
4535073549 2
64535073550 4

Question Number : 133 Question Id : 64635018733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AREUS P TEIel & MIa B 370 Il PH H TG HY:

1. 3T, TH HTE, fa, ==

2

3. R, T WTE, =), geS

4. =, gITS, T WG, fawr

Options:

E4E35073547. 1
64535073548, 2
645350723549, 5
64535073550 4

Question Number : 134 Question Id : 64635018734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-I List-II
(Leader) (Movement)
(a) Raghunath Mahto (1)  Algulaan
(b) Sidu Kanhu (1)  Nonviolent Movement
(¢) Gaya Munda (i)  Chuad Revolt
(d) Jatra Bhagat (iv)  Hul Sangram

Choose the correct option :
1. (a-HD; (D)-u); (w); (d—1v)
2. (a)y(m); (b)-av); (c)-); (d)-{1)
3. (a)-w); (B)-); (e)-(); (d)—u1)
4. (a-w); (b)—1t); ()—~1); (D)
Options:
64635073551
64635073552,

E4E3507 3553,
BA53507 3554,

[ N

Question Number : 134 Question 1d : 64635018734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



eI Bt 11 ¥ gafera sifen

-1 G-I
CIEAREEAN) (ST TT)

(a) Y gl @ SEEH
(b) Ral-arg (i) orfEame s
(c) T HusT (i) gers fasie
(d) SR HT (v) FdIUH
+a fou U foeed § § 98t SR @1 99 Pifeng ;

1. (- (B)-u); (e)i); (d)-(v)
2. (a)(m); (D)-(v); (c)-Q); (d)-(1)
3. (a-av); (0)—(1); (e)-(); (d)-(1)
4. (a-); (b)ui); ()-1); (d)-v)

Options:

64535073551, 1
64835073552 2
4535073552 2
64535073554, 4

Question Number : 135 Question Id : 64635018735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List—I List—II
(Movement) (Leader)
(a) Chuad Revolt (1)  Birsa Munda
(b) Gandhian Movement (11)  Raghunath Mahto
(¢) Chero Movement (111)  Nilambar-Pitambar
(d) Birsa Movement (iv)  Jatra Bhagat

Choose the correct option :
L. (a)-(); (B)—v); (¢)-(u); (d)1)
2. (a)-v); (b)-(); (¢)-1); (d)ii1)
3. (a)-(ui); (b)), (¢)«m); (d)—(v)
4. (a)-@); (B-1); (e)-v); (d)-(1i1)
Options:
64635073555,
64635073556,

EAE3507 3557,
EAE3507 3558,

o LIRS

Question Number : 135 Question Id : 64635018735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 B -1 § GHferd SIforg

i1 Al-11
(3MTEIE) (3T TR

(a) gars f=E i) Tz goe

(b) T Sare (i)  TgTY HEAl

(¢) = 3m=rer (ili) RO

(d) fo emrgie (iv) ORI HTE
i feu U faweul © 9 9l I &1 994 B ;

L. (a)-); (0)-v); (¢)-[w); (1)
2. (@-v); (0)-(h); (0)-(); (d)-(iid)
3. (a)-u); (b)-); (¢)(1); (d)-(v)
4. (@-); (b)(i); (0)1v); (d)(1i)

Options:

64635073555, 1
4535073556 2
64535073557, 5
64535073558, 4

Sub-Section Number : 4
Sub-Section I1d: 646350924
Question Shuffling Allowed : Yes

Question Id : 64635018736 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (136 to 140)
Cesticn Label | Comprehiension



Unity 1s the facilitator for the creation and progress of one’s country and society. If we have
no unity and we keep fighting amongst ourselves we will not be able to do anything else. We
will not be able to develop ourselves or our country and won’t be prepared to defend
ourselves when outsiders attack us. But unity should be there for self-growth or self-defence
only, not for looting or enslaving others or for perpetrating cruelty on others. In such a
scenario it 1s not umty but outright dacoity.

If we really want individual, social, national and worldly development, we should have
understood the value of great incantation of umty. Whatever force may have acted in other
yugas, but in Kaliyuga the value of the force of association, 1.e., the force of unity i1s
considered above all. In the older times, a person could feel secured by bestowing the load of
his own security or social responsibility on the king. But in today’s time of Kaliyuga, every
individual 1s independent and considers himself king. For this today every person has to
pretect humself, and umtedly protect the society and the state. The umty impregnable. That’s
why it 1s said—Unity is strength.’

Sub questions

Question Number : 136 Question Id : 64635018737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What could be the appropnate title for this paragraph?
1. Country and Society
2. Social Responsibility
3.  Security
4.  Unity

Options:

64535073559, 1
64535073560 2
64835073561, 2
4535073562 4

Question Number : 137 Question Id : 64635018738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the main goal of unity?
1.  To do away with internal strife
2. To stop external attacks
3.  For self-growth

4. For stopping cruelty



Options:

64535073563, 1
4835073564, 2
4535073565 2
64535073566, 4

Question Number : 138 Question Id : 64635018739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why do we fight amongst ourselves?
1.  Inthe absence of social unity
2. Inthe absence of unity
3.  Because of external aggression

4.  Because of the weight of social responsibility
Options:
64635073567, 1
64635073568, 2
64635073569, 3
64635073570, 4

Question Number : 139 Question Id : 64635018740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which 1s the supreme force in the Kaliyuga?
1.  Individual’s power
2. Social power
3.  Orgamzational power

4. Global power

Options:

64535073571, 1
64535073572 2
4835073572 2
E4E35073574. 4

Question Number : 140 Question Id : 64635018741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who 1s the king in the Kaliyuga?

1. Individual

2. Society

3. Country

4.  Slave
Options:

64535073575, 1
EAEZ507 3576, 2
EAE3507 3577, 3
B4E35073578. 4

Question Id : 64635018736 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (136 to 140)
Juestion Label - Comprehension

TEHdl 3T+ X7 3R GHS &t T 3R IAd B 9gdee! ¢ 3FR §HH Ul 7 81, 3uel Hag of af
TH 390 T Iag W 3UH 1 T B aIGH! B BIH el HY Gl 3N Fedl IMHH & IHT
ma%@ﬁwﬁ@ﬁlgmmmmmﬁmﬁﬁmm
B! T, I oM S 31 37 W AR S & [o10 UHdl 81 Ot Thdl el Sfews g Soat 2

afe g dufeds, qmifes, T4 S IO ATed & di Uhdl & HelHs & "ol & 99% | 3T
T e e T e [ I B 1 (Y
Q-5 H IS IR 301 &M a1 SIS GIiaa Bl HR G Afad (HiST ol Jodl 4T FTR 31
& D & THM H df R Ao W 2, 3! Ion 21 S ore e afed &1 gg ot ok Ffdd
IR AR THIG a1 Y &l 1 ST ¢ | Tl &1 e 991 81 gHed 81 § | 30: el 71 § - Tl
HEESE

Sub questions

Question Number : 136 Question Id : 64635018737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

39 U= &1 Iugad X8 a1 TR
1. o1 3R 9He
2. qHIoe SiE
3. e
4. Wodl
Options:

64535073559, 1
E4E3507 3560, 2



EAE3507 3561, 3
BAE3507 3562, 4

Question Number : 137 Question Id : 64635018738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tl &1 & I53 187
. 3N Hus Bl g S
2. 9 3RHHY DI Al
3. o ¥ e
4.  ITMER IS4 & forg

Options:

64635073563, 1
E4E35073564. 2
4535073565 2
64535073566, 4

Question Number : 138 Question Id : 64635018739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gH 3ol Hag J 9l Io ed 82
1. SrHISe Uedl & 3HE H
2. USAlS IHEH
3. SIEdl 3MmpHU & BRI
4. QAT ST & HR & SR

Options:

4635073567, 1
64535073568, 2
64535073569 2
64535073570, 4

Question Number : 139 Question 1d : 64635018740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



herg & wafof wfey & &2

1. dofede e
2. g Tied
3. 99 i

4. e Tl

Options:

45350735711
64535073572 2
64535073573, o
64535073574 4

Question Number : 140 Question Id : 64635018741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HiergT H TSl HIF 87

1. oafed
2. U
3. ¥
4. <9

Options:

4635073575, 1
64535073576, 2
64535073577, 2
64535073578, 4

FART III language khadia

Section Id : 646350412
Section Number : 3

Section type: Online
Mandatory or Optional: Optiona
Number of Questions; 10
Number of Questionsto be attempted: 10

Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

S 1h_<artinn Niimhaor - 1



Sub-Section 1d: 646350925
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 64635018742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Khadia - Who 1s the poet of the poem, Murda Dino To Khadia Jios?

.
"

Pyara Kerketta
2. Juel Sarang
3.  Fa. Jopakim Dungdung

4.  Prof Aml Virendra Kullu

Options:

64635073579, 1
64535073580 2
64535073581, 2
E4E35073582. 4

Question Number : 141 Question Id : 64635018742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

w|fEm - qvs o & wigm e o & sf Sm g
1. R EEET

[ ]

Jua |
3. . SiareE ggn
4. Ot afa favs oo

Options:

64535073579, 1
64535073580 2
4535073581, 2
64535073582, 4

Question Number : 142 Question Id : 64635018743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Khadia - From which book is Neda Sara poem taken?

. Ludhi va Sinkom
2. Khana gadh-padh Sangrah
3. Surh Kapah Kongtad

4.  Sengal



Options:

64535073583, 1
4835073584, 2
4535073585 2
64535073586, 4

Question Number : 142 Question Id : 64635018743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
|iEa - 31 |8 Sl e e 4 ? 1 87

1. gt e

2. e TR-UY W9e
3. gud Sud Seds
4. @M@

Options:

4635073583, 1
64535073584, 2
64535073585 2
64535073586, 4

Question Number : 143 Question 1d : 64635018744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wfgar
AHFUT(A) - ST HE A, ITSTT Iy 3R T SrHH! HIeT 1 o |

% (R) © 3 O T
forferan &em gHiE
U1 TS, ARGl | ara

. (A) 3R (R) SRTEE &

O]

(R) T8 & 3R (A) T €]
3. (A)@R(R) o= e €

4. (A) SR (R) T HE B
Options:
64535073587, 1
64G3507 3588, 2
E4E35073589. 2
645350735390, 4



Question Number : 143 Question Id : 64635018744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

afgar
AfYFUT(A) - SuH! O e, IS g ARH Ty YS! BTl =1 ot

& (R) . O O e
forfern @ew g
ol@l R, AFes! 9 ST

. (A) 8R(R) TFT @ €1

[ o]

(R) Tt T 3l (A) T 2
3. (A)SR(R) o e g

4. (A ARE) I wE 8
Options:
64535073587, 1
64535073588, 2
645350735849 2
E4E35072590. 4

Question Number : 144 Question Id : 64635018745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FofufEe e sr H wd SR 27

afem
1. g emfim o, aefys g, Resn geel, afsm m-ug gug
2. Toeera geien, 3 emaftm oW, SiEyr WU 9T, SEfE H5s.9f
3. JfEaE gEE e, Wiea - §uE, g4 amafim em, e gaen

4. wfEm vy 9, e gaten, i gesa, I smmit s
Options:
64635073591, 1
64635073592, 2
64635073593, 3
64635073594, 4

Question Number : 144 Question 1d : 64635018745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o vem= o0 § 9d s 27

afem
1. 3 e =1, sEfas e, e getet, afem - g
2. Toeera geien, 3 emaftm oW, SiEar WU 9T, M g5s.9f
3. EfaE gREe |iea wI-ue e, g ammitm s, e garen

4. wfEm vy G, e gaten, el gesa, O st e
Options:
64635073591, 1
64635073592, 2
64635073593, 3
64635073594, 4

Question Number : 145 Question Id : 64635018746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wfgar
-1 %1 g=t-11 | gafea st
a1 -1

(a) =90 AR (i) @i e o veas
(by EI g T (i) Gl DU BIEAS
(¢) I Saned gngn (i) EigT 7o qug
(d) I weEn (v) wEfga s

i fou T faeey # | 9El IR @1 997 S ;
1. (a)(i): (b)(ii): (e)~v); (i)
2. (a)-); (b)-(1); (c)-(uii); (d)-(iv)

3. (a)Gn); (b)—av); (o)) (d)—(i1)

4. (aHv); (b)), ()i, (d){iid)
Options:
E4B35073595 1
E4E2507 3596, 2
E4E25073597. 3
645350735598 4

Question Number : 145 Question Id : 64635018746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



wfsan

Tt 1 &1 i1 | gefea S
-1 -1
(a) =Y 3FR (i) Wi e @ e
(by ST g e (i) el Sol BEWS
(c) Uil Siared ggh (i) EfEm T-ua TuE
(d) i 3o B (iv) @fFa s
=4 U 10 ey 4 9 9et 3w @1 =9 S

1. (ay), (b)-(m); (cav); (d)1)
2, (@)1 (b)-(i); (¢)-(iii); (d)-(iv)
3. (api) (b-v); (ed-A); (d)ii)

4. (a)y-(iv); (b)-(1); (c)H1); (d)H{ii1)
Options:
64635073595, 1
64635073596, 2
64535073597 3
64635073598, 4

Question Number : 146 Question Id : 64635018747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wfan: afym ey e e &2
1. TRISTHE
2. SieE e
3. gAue FE
4. Ul S
Options:

645350735595, 1
64535073600, 2
64535073601, 3
EAEZ507 3602, 4

Question Number : 146 Question Id : 64635018747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



wfgan: @fga ey e e 87

1. R STHE

2. HlieE e

3. guaH e

4, VIO s
Options:

64535073599, 1
E4E3507 3600, 2
E4E3507 3601, 3
EAE3507 36802, 4

Question Number : 147 Question Id : 64635018748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wfean : 37 § wigar gitasR o1 82
1. SuasE
2. Bl IH T s
3. fawargos
4. Sl o e

Options:

64635073603, 1
64535073604, 2
64535073605, =
E4E35073606. 4

Question Number : 147 Question Id : 64635018748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wiear: 390 § Wisar gitaeRr o7 87
1. oud s
2. Bl IH T st
3. fe=rHus
4. Sid g s

Options:

64535073603, 1
64535073604, 2
45350732605 2
4535072606, 4



Question Number : 148 Question Id : 64635018749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 & = fiu e B o A ue aftiew (A) © 3R G196 (R) B1 Sy &Y ofge ok
== U U $e %1 vanT & 9el TR g

wfean
AHFHYF(A) ;39 o Aewg SR B
T (R) . Fife a8 @H-U TR 3R G 5 B SR g
oI
L. (A) TR R (R) o
2. A RE) I TRE
3. (R) Wl 3R (A) Tad Bl
4. (A) 3R (R) T T B
Options:

E4E35073607. 1
645350736808, 2
64535073609, 3
64535073610, 4

Question Number : 148 Question Id : 64635018749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



9 Py feu e € R @ uw oifteuT (A) § 9N R @@ (R) B BuST @1 Uiy 3R
== U U $e %1 vanT & 9el TR g

wfean
AHFHYF(A) ;39 o Aewg SR B
T (R) . Fife a8 @H-U TR 3R G 5 B SR g
@
. (A) IR 8 3R (R) T €
2. () RER) I T
3. (R)HE R R (A) TEa g
4. (A) 3R (R) G TTea B
Options:

E4E35073607. 1
645350736808, 2
64535073609, 3
64535073610, 4

Question Number : 149 Question Id : 64635018750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
GIEAT == afrmar #57 & wé w7 & 7

1. Ol OaSedE O I O, A |1, W SRl
2. U3 CE, TN S8, TR g, W, I Sl
3. OO 9, W S, W, 9 o7, W A9 St
4. R HTHT, W IS HLhE], Taey |8, W, I ¢

Options:

64835073611, 1
E4E35073812. 2
64535073612, o
64535072614, 4

Question Number : 149 Question Id : 64635018750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



wfdw =g qiTaT FAH T & FiT & ?
1. U39 SHesE v I T, TavE |18, WRI SRasl
2. U139 CC, Uaed T3, TR HeE, W, I Sl
3. UGEH 909, ORI ST, W, 99 o, . A6 St
4. ORI HIHE, V. IS P, TaeH ;e W, A9 o

Options:

4535073611, 1
64535073612, 2
64535073613, o
64535073614, 4

Question Number : 150 Question Id : 64635018751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wfsar
-1 &t gE-11 I gAfea sifse
-1 -1

(a) e A (i) TR

(b) @RE (i) 39

(c) g i aRE (i) Tt

(d) Yo IRs (v) wEHad
“H fou U fA@wen | 9 981 3T &1 997 S ;

L. (a)-(v); (b)-(u); (c)-(11); (d)~(1)
2. (a)(); (b)-); (c)~v); (d)(iu)
3. (ay-(u); (b)-(1); (0)-un); (d)-(v)
4. (a)-(); (B)—1); (c)-v); (d)-(1u1)

Options:

64635073615, 1
64535073616, 2
64535073617, 2
E4E350732618. 4

Question Number : 150 Question Id : 64635018751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



afear
-1 &t gEt-11 I gafea sifse
-1 -1

(a) ST A (i) TP

(b) @Rs e (i) S

(c) it it IRE (i) uad

(d) 9Ua RS (iv) wEHad
< feu T fYeey H 9 98 I &1 997 B

1. (a)-(v); (b)-(n); (c)-(11); (d)—~(1)
2. (ayQ); (b)-(1); (o)), (d)iii)
3. (a)-(ui); (b)-1); (c){1ii); (d)—1v)
4. (a-(u); (1) (e)-v); (d1in)

Options:

64835073615, 1
E4E3E5073616. 2
64535073617, o
64535073618, 4

FART IV language Mundari

Section Id : 646350413

Section Number : 4

Section type: Online

Mandatory or Optional: Optional

Number of Questions: 10

Number of Questionsto be attempted: 10

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350926
Question Shuffling Allowed : Yes

Question Number : 151 Question 1d : 64635018752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Mundari - Who is the writer of the book, Bansi Bgf Rali?
l.  Kashinath Munda
2. Dr. Ramdaval Munda
3. Mangal Singh Munda
4. Shn Jagdeesh Trgimayat

Options:
435073619 1

EAE3507 3620, 2
EAE3507 3621, 3
BAEZS07 3622, 4

Question Number : 151 Question Id : 64635018752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
qUaRt - ‘afad 79 E TS & 0EE o 87

1. Sy g

2. Bi TG guEt

3. Hia e goE
4. 9 o B
Options:

E4E35073619. 1
BAE3507 3620, 2
64535073621, 3
E4E3507 3622, 4

Question Number : 152 Question Id : 64635018753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mundari - What 15 the name of the book written by Dr. Ramdaval Munda?

l. Adi Dharme

2. Sans Ba

3. Preewala Ramayvan Bala
4. Baria

Options:

64635073623 1

435073624, 2

64535073625, 3
EAE3507 3626, 4

Question Number : 152 Question Id : 64635018753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qusH - . e gust g IHd SiF-H OEe e
1. onfE e
2. HEa
3. viduren TR ST

4. @t
Options:
64535073622, 1
64535073624, 2
64535073625 3
64535073626, 4

Question Number : 153 Question 1d : 64635018754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
2 &t Fya fGr o € 5§ we sfieE (A) B IR 98 9 (R) §1 B @ Ofe SR
< e 7TU g @1 i PR Hel IR g

queTi
sfmym(A) ¢ W EE Tl
T (R) . affg Hig I wm

ol

1. T E ey mE
2. (A)TEE TR Ry I T
3.0 A dR) SR EE R

4. (A sR(R) et mER
Options:
646350736271
646350736208, 2
64535073629, 3
E4de35072630. 4

Question Number : 153 Question Id : 64635018754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1 St wye e o € FE ¥ U sifieE (A) § SR SEW 9 (R) B TuEl @1 afen 3R
i f&U TTU e &1 wEi H HEl IR g

quari
YR (A) ¢ W T EEE Tl
% (R) . affg Fiz AR um

@ ]

=,

1. (nyTREaR ) TEE R
2. (A)TERAT AR (R T 2
3.0 (A)dRR) IR

4. (A dRR) S e
Options:
435073627, 1
E4E3507 3628, 2
64535073629, o
64535073630, 4

Question Number : 154 Question Id : 64635018755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

guerst Fafefad yeme &0 § ud s g?
1. 97, 93, dag, R

1%, ¥dlg, foRR, Wi an:

Udle, RRR, T &1, e

4. TBRR, wie o, T1a9, Udig

Options:

64535073631, 1
4835073632 2
E4E3507328322. 2
64535072624, 4

-2

LN ]

Question Number : 154 Question Id : 64635018755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gusTt Fafafad uae=e &9 F ugdt e 82
1. 9, 999, 9ae, RRR

JI7%, Hdle, fRRR, Wi an:

Ydig, RRR, 9T o, 1%

4. TeRR, wign ar, s3a, Yoig

Options:

64635073631, 1
64535073632, 2
64535073633 2
48350736324 4

-2

LY ]

Question Number : 155 Question Id : 64635018756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

queRl
Teit-1 &t gE-11 I gAfea sifsme -
-1 -1

(a) WiGOTET IHE O (i) Sl I gusl
(b) Holg (i) BRIy gust "He”
(c) @I (i) Sy, o 3
(d) HosTgTS (iv) Fgug

f&u U fawed | | 98l I 997 S :

1. (a)-v); (b)—(1); (e)(i); (d)-(iii)
2. (a)-(); (b)1i1); (0)-); (d)-Gv)
3. (a)(ii); (b)ib); ()-iv); ()1
4. (@)-(1); (D)—1v); ()(ii); (d)—(ii)

Options:

4635073635, 1
64535073636, 2
64535073637, 2
64535073638, 4

Question Number : 155 Question 1d : 64635018756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qusi
TEt-1 &t gE-11 I gAfea sifem
-1 -1

(a) iqUTEr IHE TTEl (i) S IHcaE Ul
(b) Hdg (i) Sy gus "He”
(c) R (i) T, oft. 3MmER
(d) FosT1gTE (iv) 9g9g

fou MU fdeey H 9 9El 3T 99 I ;

L. (a)-v); (0)1); (e)-i); (d)-(iii)
2. (a)-(ii); (b)ii); (o)-1); (d)—(iv)
3. (a)(ii); (b)id); ()-iv); (-1
4. (a)-(1): (D)v); (e)ii); (d)—(ii)

Options:

64535073635, 1
64535073636, 2
64535073637, 2
4835073638 4

Question Number : 156 Question Id : 64635018757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qusT : gusi =< T fat §2
1.  HEE qUs
2. U R
3. quiddl U
4. T fast
Options:

64535073639, 1
64535073640, 2
E4E3507 3641, 3
EAE3507 3642, 4

Question Number : 156 Question Id : 64635018757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



USRI : YUSKI fe=al Teab I feiah! 62

1. IHedrd gusl

2. TP
3. Wuldd udrg
4. e e™ faat

Options:
4535073639, 1

E4E3507 3640, 2
E4E3507 3641, 3
BAE3507 3642, 4

Question Number : 157 Question Id : 64635018758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

USR] : HRI-Y Rig HUs1 S0 BT 00" HIF-91 872

1. BTG

-2

TEH
3. TmASd ¥ ygd

4. TSI

Options:
4535073643 1

EAE3507 3644, 2
E4E3507 3645, 3
BAE3507 3646, 4

Question Number : 157 Question Id : 64635018758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

USR] : HRI-Y Rig HUs1 S0 BT 00" HIF-91 872

1. BTG

-2

TEH
3. TmASd ¥ ygd
4. TS<gP

Options:
E4E2E073645. 1



EAE3507 3644, 2
64535073645, 3
E4E3507 3646, 4

Question Number : 158 Question 1d : 64635018759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr &) A fau MU €, oAE 9 U e YT (A) € SR ORI dd (R) 81 SUAl &1 Ufdu 3R
4= f3U 71T foe &1 Uai R Hel SR 9T

gusHl
IUBYT(A) : HUSTIHS § o U4 fiare W enenfia Aragrt i et 21
& (R) . Fifes ITRMUBR G 1 e € - Tt &1 781
HT
. (A9 2R R) T@d 2
2. (A) dR(R) aFf et E
3. (R)WEIE MR (A) T B
4. (A) MR (R) T 7o €

Options:

64535073647, 1
64535073648, 2
64535073649, 2
45350732650 4

Question Number : 158 Question Id : 64635018759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T 21wy o e & A 9 ue ifiiuE (A) 2R g1 9 (R) B1 Syl 1 Ufdu @ik
i feU 71U ST &1 Wi B Hel 3R 9T

gusTd
IUBYF(A) : HUST A | oF Ud e W anenia Trdgit urg ot 21
& (R) . it ITieR O o fiea € - Tt g
HT:
1. (A) 98 &R (R) Tad
2. (A)dR(R) T T I
3. (R)HE!E 3R (A) TTed B
4. (A) R (R) T e B

Options:

4835073647,
E4E3507 3648,
4535073649,
64535073650,

[

Question Number : 159 Question Id : 64635018760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qUSRt TEH aiTar FH ¥ FE FiT & ?
2. Fo e e fast, T e guer, sy e gust
3. vid R quel, Reves fdel, 5wa guel, sy R qust

Options:

64835073651, 1
E4E350738E52. 2
64535073653, o
64535072654, 4

Question Number : 159 Question Id : 64635018760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HUSRl 3EH qUTAT HH H TEl HiA g ?
2. waue, eueE el Fa Rig gue, sri=my 6 qost
3. e e que, Reve e, 7 guet, sy g gost

Options:

64535073651,
64535073652,
4835073653,
4535073654,

o P

Question Number : 160 Question Id : 64635018761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

USSRl
gel-1 &t gHi-11 9 gafea aifow
a1 TEi-11

(a) warat (i) R gue

(b) YusH (i) T I I>HE

(c) wfea (i) ST, enfe wTE fam

(@ & (iv) Sl POITETI
=14 fGu U fdeey o | el ITR &1 994 S

L. (a)-(m); (b-1); (e)~iv); (d)-D
2. (@-av); (b)-Q); (e)-(); (d)i)
3. (a)-D; (B)H1); (e)(1i1); (d)—(iv)
4. (a)p-(1); (b)-); ()-1v); (d)-1)

Options:

4535073655 1
64535073656, 2
64535073657, o
64535073658, 4

Question Number : 160 Question Id : 64635018761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



qusRi
ge1-1 &1 gHi-11 9 gafta sifow

(a) el (i) fa=eR guer

(b) wusrd (i) I3 FPe

(c) wfe (i) ST, e wTE fame

(d @ (iv) SlPUTHcyg
:ﬂ%ﬁﬂmﬁﬁi\f@ﬂ'ﬁﬁﬁﬁlﬂﬂ?aﬁﬁﬁq:

1. (a)-Qii):, (b)-(i); (c)—-(iv); (d)—(1)
2. (a)-(v); (b)-1); (e)-(11); (i)
3. (a)(); ()); (e)—(ii); (d)-(iv)
4. (a)-Qi); (b)H1); (e)-(1v); (d)(1i1)

Options:

E4E2E073655. 1

4035072656, 2

EAE3507 3657, 3
E453507 3658, 4

FART ¥ language Ho

Section Id : 646350414

Section Number : 5

Section type: Online

Mandatory or Optional: Optiona

Number of Questions; 10

Number of Questionsto be attempted: 10

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350927
Question Shuffling Allowed : Yes

Question Number : 161 Question 1d : 64635018762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Ho - When was the book, Savrger Hitad Mivad published?

1. 2009
2. 2008
3. 2007
4. 2006
Options:

E4E3507 3659, 1
E4E3507 36860, 2
64535073661, 3
E4E3507 3662, 4

Question Number : 161 Question Id : 64635018762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Bl - T s s’ e @1 v e gam?

1. 2009
2. 2008
3. 2007
4. 2006

Options:

64535073659, 1
E4E3S07 3660, 2
64535073661, 5
4535073662, 4

Question Number : 162 Question Id : 64635018763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ho - Who 1s the publisher of Ho Hayam Civil Durang Puti?
1. Tnbal Cultural Society
2.  Jema Graphics
3.  Jana Madhyam
4. Jharkhand Jharokha

Options:

4535073663, 1
64535073664, 2
64535073665, o



EAE3507 3666, 4

Question Number : 162 Question Id : 64635018763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gl - 31 Tod e g Uiy &1 U= &1 87
1. J39d Hoadd 9IEsc]
2. O Uiftheq

3. SHAMHIEH

4.  FRES FAE@I
Options:
E4E2507326E5. 1
EAE2507 3664 2
E4E35073665. 3
64535073666, 4

Question Number : 163 Question 1d : 64635018764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2 & Hy= fou o € o 9 ue efieys (A) B 9IR g0 &6 (R) B1 Syl @) ofeu ok
== f3u Tu o &1 v & Hel T g ;

gl
HUSYF(A)  HEY: FREUE T HFA T I T IEE F= =91 R gRwes =
T (R) LS YT T A ST S
7
1. (Ry¥E e o (A) T 21
2. (A T8 R R R T R
L ERE FER
4. (A)AR(R) S TTeE €
Options:

64535073667, 1
EAE350736EE. 2
EAE3507 3669, 3
EAE3507 3670, 4

Question Number : 163 Question Id : 64635018764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



2 3 Hu= fRu MU g, o @ ue aifieum (A) € 9fR T a6 (R) B uFl &t ufeu iR
= fou T He &1 vET S 98l 3w g

gl
HHSUF(A) WG FREUE L HFHT T T T G0 g -1 e gRes a i
WHR) ¢ o O A mg A
e
1. (R g 8w (A) Taa 21
2. (A) T E R Ry e 2
3 @dRE) R
4. (A AR(R) SN e #
Options:

EAE350736EY. 1
E4E3507 3668, 2
64535073669, 3
E4E35073670. 4

Question Number : 164 Question Id : 64635018765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Bl frafafad e s § w6t Bl 82
1. @ gd RRR, 8 g wuE, § gl gfd, wdler v

Options:

64535073671, 1
64535073672 2
E4E35073673. 2
64535073674, 4

i~

Question Number : 164 Question Id : 64635018765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gl fafeafad uereE o0 o 98 SH-91 87
1. a5, RRR, 81 g3 WUs, 81 g¥ Yfd, 9w 4d

Options:

64635073671, 1
E4E3S073672. 2
64535073673, 5
4535073674, 4

Question Number : 165 Question Id : 64635018766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gl
i1 & G-I § gHferd sifere
Y1 Yel-11

(a) TEEROIGR (i) g Srsifa & ar i
(b) T i (i) ifa 3= fRgw afrs
(c) farsm sy (i) A
(d) D Ele (iv) GSTHH

A fau e famey o 9 Hel 3R &1 98- S

L (a)0): (b)~(1): (e)—~(1v): (d)—(11)
2. (@)~w): (b)=(1): (e)(n): (d)—~(m)
3. (a)-(): (b)~(iv): (e)~(iii); (1)
4. (a)-(m): (b)=(u); (¢)-(1): (D)—v)

Options:

E4E35073675. 1
4535073676, 2
4535073677, o
64535073678, 4



Question Number : 165 Question Id : 64635018766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Gl
Gell-1 &1 =i-11 ¥ gAferd Hiferg -
Y- a1

(a) TRV (1) g st & Tid
(b) <HI= P (i) Sfd 231 fegw afrs
(c) [a%TY aitexT (i) AN
(d) e & (iv) go1 A

A 13T T faeed # 9§ Wel IR B1 90 HIfT :

L (@)=(): ()(iid): ()—iv): (d)—i)
2. (@)~(iv): (0)~(0): ()-id): (d)iii)
3. (@)=): (b)~(iv): ()~id): (d)~()
4. (@)~(d): (b)~(i): ()~ (d)~iv)

Options:

64535073675, 1
4535073676, 2
64535073677, o
64535073678, 4

Question Number : 166 Question 1d : 64635018767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

81 : 1 Syl &1 UUE [F3] 87
. HEIWER
2. Sl 3nfec v R
3.  dNHYdcH
4. BdR g Rig
Options:

64535073679, 1
EAEZ507 3680, 2
E4E3507 3681, 3
BAE3507 3682, 4



Question Number : 166 Question Id : 64635018767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

81 : 1 13l &1 UUE [Fa3] 872
. HESIWER
2. Sl 3nfee v R
3. S FHYECH
4.  gdR AR g
Options:

EAE35073673. 1
64535073680, 2
64535073681, 3
E4E3507 3682, 4

Question Number : 167 Question Id : 64635018768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Bl : WA TIAIBIUS & TAIHR HIH §7?
1. SrR$
2. S SR R
3. 3l e g
4. Sl RaEdivya™

Options:
E4E2E073683. 1

EAEZ507 3684, 2
E4E3507 3685, 3
BAE3507 3686, 4

Question Number : 167 Question Id : 64635018768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Bl : WIHAT TMTAIBIUS & TWHIDHR B 67
S i

2. S HUR fa

3. 3l cngwl g

4. Sl RaEdy ™

[—



Options:

64535073683, 1
48350736384, 2
45350732885 2
64535072686, 4

Question Number : 168 Question Id : 64635018769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- & dy oy U g, 598 9 U@ i@ U (A) § SR g ddb (R) B dUAl &1 ufgu 2k
B i fow T e T W @) UE) GTR 9T

AUFHUA(A) : SIUST IS UgART ST US|

b (R) . i I 3 Dol f9ag 8711
G

. (A)TSIE R (R) Ted &

2. (A) 3R (R) M HEl &

3. (R)9el® 3R (A) T B
4. (A) 3R (R) &M Tad g

Options:

64535073687, 1
64535073688, 2
48350732689 2
45350732690, 4

Question Number : 168 Question Id : 64635018769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 gt Py Ru e B, R @t 2fiidyT (A) § SR g1 9 (R) ©1 wul & ufgu 3R
B i fw T e T W @) UE) ITR AT

iR (A) SIS fAF UGAT TgTA US|
@ (R) . Fifd §F 3 ol fSag gsu1
[¢ Tl

I (A)WEIE 3R (R) Ted &
(A) IR (R) ST &el B
3. (R)Wel® 3R (A) Ted ©
4. (A) 3R (R) eI TeEd g

[



Options:

64535073687, 1
4835073688, 2
45350732689 2
64535072690, 4

Question Number : 169 Question Id : 64635018770 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
8 SEH FOudar 9 § Wel Hid g ?

1. aplEe, 31 ad= A1y Rigs, 31 $AR furjan, Ul germ ure
3 $UR fUjan, Ul Sy Ure, dh! digy, 31 ad=-1y figs
Ul SeR™ UTe, dab! dige, 3~ AR fjan, 1. ¢d= Rigd
4. 3l ¢d= Rigd, o HAR UTeM, Ul FeR™ Ule, ! digd

Options:

4635073691, 1
64535073692, 2
64535073693 2
64535073694, 4

I~J

fad

Question Number : 169 Question 1d : 64635018770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g A I0Tar FH & HEr HiA g ?

1. aPplEe, 3. ad= A1y Rigd, s $AR farjen, Ui, ge=m ure
3{==d HAR O3, U1, S Ure, da! died, 31 ad=-1Y [6g®
Ol IR UTe, da! d1ee, oA $aR fjsn, 31. dd= Risd
4. 31 od= [NgP, o AR ftFjan, Ul SR Ule, T@! 963

Options:

64535073691, 1
4835073692 2
45350732892 2
64535072694, 4

IJ

LN

Question Number : 170 Question Id : 64635018771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i1 ®l -1 § gaferd oifsm -
G-I G-I

(@) eIk () ST gHT fud

(b) oIS s (i)  TEHEU GaTH

(c) TR (i) AR

(d) g T (iv) Ui 9= fomal
i fau 7Tt fdeu & 9 HEt SR &1 99 BT :

L (a)-): (b)-(m); (c)-(1v): (d)—(11)
2. (a)(m); (b)-(1); (e)—(11): (d)—1v)
3. (i) (b)-(m): (e)—~v): (1)
4. (a)-(v); (b)—(1); (e)-(1); (d)-(11)

Options:

4535073655, 1
64535073696, 2
64535073697, 2
64535073698, 4

Question Number : 170 Question 1d : 64635018771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



G-I Bl YdI-I1 ¥ aferd Hifom
-1 -1

(a) TIEIR (i) S o g

(b) oIS s (i)  TEHEU GaTH

(c) EFQHT (111) E{rg:[&ﬁaﬂ

(d) g T (iv) Ui 9= fomal
i fau 7Tt fdeu & 9 HEt SR &1 99 BT :

1.  (a)—(1); (b)-(111); (c)—(1v); (d)—(11)
2. (a)=(m); (b)=(1): (c)=(1); (d)—(1v)
3. (a)=(ii): (b)=(iii); (c)—(iv): (d)—(i)
4.  (a)-(1v):; (b)—(1); (¢)—(11); (d)—(11)

Options:

£4635073695. 1

64635073696, 2

EAE3507 36597, 3
E4E3507 3638, 4

PART ¥I language Sarthali

Section Id : 646350415

Section Number : 6

Section type: Online

Mandatory or Optional: Optiona

Number of Questions; 10

Number of Questionsto be attempted: 10

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350928
Question Shuffling Allowed : Yes

Question Number : 171 Question 1d : 64635018772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Santhali — What 1s the script of the book, Dulang Do Okare Ondohe?

1. Foman

2. Devnagri
3. Alochiki
4. Bongla

Options:

64535073699, 1
64535073700, 2
64535073701, 2
4835072702, 4

Question Number : 171 Question Id : 64635018772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Harell - ‘gars o sfien s s vy fafu 82

1. A
2. SEArRI
3. ol
4. @

Options:

64535073699, 1
64535073700, 2
E4E35072701. 2
E4E35072702. 4

Question Number : 172 Question Id : 64635018773 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Santhali — The book. Santhali Gadh-Padh Sangrai written by Dr. Krishna Chandra
Tudu was published in which year?

1. 1979
78 1980
3. 1981
4, 1982

Options:
64535073703, 1
64535073704, 2

EdBZ507 3705 3



EAE3507 3706, 4

Question Number : 172 Question Id : 64635018773 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HaTelt - S1. PUES ¢g Uad “Harel TE-Te GUE ©d HDINd ga’

L. 1979
2. 1980
3. 1981
4. 1982

Options:
E4E35073703. 1

EAEZ507 3704, 2
E4E3507 3705, 3
BAE3507 3706, 4

Question Number : 173 Question Id : 64635018774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9 €1 Fye f8u e €, o € U@ sifienE (A) § IR R ad (R) €1 AT 91 e SR
it &y 71U e &1 a8l I g

Herelt
Py (A) : fREE IS er fexam
zal: fordt & 9t afgwan 711
P (R) . 21§l 9IS 9™, A § 95 arF
Zo fordl i &1 afge e
e
I (A)%E 2 SR (R) T B
2. (R)HEIE 3R (A) T 2|
3. (A)3R(R) SHi e gl
4. (A) AR (R) aHI HEl &
Options:

64535073707, 1
E4E3507 3708, 2
EAE3507 3708, 3
BAE35073710. 4

Question Number : 173 Question Id : 64635018774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i 2 o oy U €, 5 | U sifireA (A) € SR gER1 9@ (R) €1 ST @l e SR
i féu 71U e &1 i AR HE IR g

Hardit
fpY(A) - RIS Imdi ar feeam
z=ll: fordt < 1 afgvan 1
ad (R) . 2018 9IS O, "/ §1 916 a1F
g1 Tl fde 21 afge aA|
@f
I (AR R (R) Ted 8
2. (R) 9@ g AR (A) Terd g
3. (A)3R(R) SHiTEd gl
4. (A) MR (R) EHIHEI €|
Options:

B4E35073707. 1
64535073708, 2
64535073709, 3
E4E535073710. 4

Question Number : 174 Question Id : 64635018775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et Fafcifad v o6 H Wl SIF- 87

1. 8T godre, 9T 51, T SSH, dY S3aR
2. R ERAR, N ST, 15T ¢gar®, TR gl
3. HR S, 9161 e, IR ERAR, U S8
4. U 33, IR WRER, GRS, 9181 3GAD

Options:

64635073711, 1
64535073712 2
64535073713 2
4835072714, 4

Question Number : 174 Question Id : 64635018775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et FafaRea v o0 H w6 dIH-w 67

1. @81 gqarP, R a1, YA ST, diY WRaR
2. OR ERAR, TN TSI, 15T i, SR gl
3. HR I, 9181 eqae, 9k ERaR, UHA S8
4. UHA 33T, 4R GRER, R 50, 981 39ars

Options:

64535073711, 1
64535073712 2
4835073712 2
4535072714, 4

Question Number : 175 Question Id : 64635018776 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wHarert
G-I D1 -1 T gAfera S
-1 G-I
(a) fagdica (i) SIPUTECG
(b) T e T (i) gAY
(c) W &M (i)  3nfee o Heared
(d) T (iv) HER feep
e fau TTu faeheq § 9 w1 ITR ST =90 B :

=

(a)—(1): (b)~(11): (c)-(1v): {d)—(i1)

td

(a)—(i1): (B)—(1v): (e)—(ii1); (d)—(1)

4

(@)=(iv): (b)—(1): (e)~(i1): (d)—(iii)
4. (a1 (b)) ()-(1): (d)(iv)

Options:

64535073715, 1
64535073716, 2
E4E35073717. 2
E4E35072718. 4

Question Number : 175 Question Id : 64635018776 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et

FAI-1 D1 FI-11 § gafea Sifer
-1 G-I
(a) fagdiea (i) ST PUTRTE
(b) et @ A (i) gAY A
(c) W (i)  enfee o Herwedl
(d) TIEA (iv) THER fbep
e fau 71u faerea & & w&l IR &1 9 S -

L (a)-(0): (b)~(11): (c)~(1v): (d)~(11)

-2

(a)—(i1): (b)—(1v): (e)—(iid); (d)—(1)

L]

(a)=(iv): (b)—(1): (e)—(ii): (d)—(iii)
4. (a)-(iii): (b)—(i1): (e)=(1): (d)—~(iv)

Options:

64535073715, 1
E4E35073716. 2
E4E350732717. 2
64535073718, 4

Question Number : 176 Question Id : 64635018777 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HaTett : St @R el 82
1. TFENERH
2. SlLUHE=mHE
3. HITE 9 ERE
4. PUAHGY
Options:

E4E35073718. 1
EAE3507 3720, 2
BAE35073721. 3
BAE3507 3722, 4

Question Number : 176 Question Id : 64635018777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HaTett : St @R el 82
L. AR
2. BlLUEEm

3. HE 9 9RA

4. PUITRGR
Options:
E4E250737159. 1
EABZ507 3720 2
E4E35073721. 3
BAG35073722. 4

Question Number : 177 Question 1d : 64635018778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Harelt : Garelt dert Tifed H wuH S HE- 82

1. HIAn

2. UU@rHGad

3. IA R

4. T gRmEA
Options:

BAE35073723. 1
BAE3507 3724, 2
64535073725 3
E4E3507 3726, 4

Question Number : 177 Question Id : 64635018778 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HaTel ; Tl B Tifed H WyH Her -8 87

1. WA

2. Y@l EEd

3. 3d

4. UTIORTEEA
Options:

64535073723 1
E4E35073724. 2
EAE3507 3725, 3
BAE3507 3726, 4

Question Number : 178 Question Id : 64635018779 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
= 2 Py fou W E oA § 0P sfieuA (A) © IR gHY % (R) 81 FUAl &1 Ui 3R
e f&U MU e &1 wEr R Ul ST U

S
P (A) : TeT o S TS BT SRRAT e
T R) . i BTN ot 4 Uell & SR W Ul 1 BIg U wigT Tmal-a@s gl
el
Tc:
. (A) T8 R (R) T €|
2. (A) 3R (R) EH e €
3. (R)WElg &R (A) i gl
4. (A) SR (R) SF e B
Options:

BAE35073727. 1
6435073728, 2
64535073729, 3
E4535073730. 4

Question Number : 178 Question Id : 64635018779 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i & Py Gy 0§, A T U@ SifiauE (A) § R g9 a0 (R) ©1 Sl 31 OigU #iR
i fau 71U e @1 v 1 Hel AR g

Harett
HUPY(A) ; Eial g 81 TS B SRRl dgo|
& (R) . P TP St A Tedt B SHFANY W AT BT BIg TP WAIS1 Thdl-ads ol
-
o
1. (A)WElg 3R (R) Tad &
2. (A) 3R (R) EHi Tad &
3. (R)TEIg R (A) Tl Bl
4. (A) SR (R) IHI AT §)
Options:
CAEZEEQFZET2F. 1
CACIEO7IV2E. 2
CAEIEN737F29. 2
LACIE073FV30. 4

Question Number : 179 Question 1d : 64635018780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
darht  SEH AT FH T TE BT & 2

. PUIF%H T, TR, TATY TR, T Y= e
T 3, W YR £, T AR, F1 I GF
3. U YR e, T {3, T ARA, 5 9 O
4. ARG, P A G, T G, WH G e

Options:

64535073731, 1
E4E3S073732. 2
E4E35072732. 2
645350723724, 4

&

Question Number : 179 Question Id : 64635018780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hareht THH TN FH T TE FhT & ?
1. POIEE G, AR, T TR, W YR e
T TR, WTH G ¢, T ART0, P T
3. W ER e, T G, T R, P 5
4. T AR, FONEH T, T T, W YR e

Options:

64535073731, 1
64535073732 2
48350737332 2
E4E35072734. 4

k-2

Question Number : 180 Question Id : 64635018781 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et
Tet-1 31 gei-11 & Fafo Fifag -
T 1T
(a) =99 FE (i) Ear
) I FMIEIZ (i) Fz=
(e) = = =arE (i) HUETR
(d) fasiR qoer (iv) =fEm

43 fgu mo faren @ & w8 O 1 907 e
Lo (@(v): ()=(u): (c)=(1): (d)=(au)
2. (e (o)) (e)=(iv): (d)-(i1)
30 (a)=(u) (B)=(u): (c)=(1): (d)=(av)
4. (av): (b)) (e)—i); (d)—(uii)



Options:

64535073735, 1
E4E35073736. 2
E4E3E5072737. 2
645350737328, 4

Question Number : 180 Question Id : 64635018781 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wae!
-1 1 E-11 & gafes Fifan -
B! 11
(a) = I FHE (i) s
b)) SlFmE=IZ () 3=
(c) 1. =y merE (iii) HoEH
(d) fasR Ao (v) @fEm

43 fon o e § § O IR 9 904 Fifen -
Lo (@) (b)) (e)-0): (d)—(ni)
2. (A=) (o)=); (e)=(1v): (d)-(i1)
3. (a)(am): (b)) (e)-(1): (d)-(v)
4. (a)Hav): (b)) (e)—(a): (d)(1i)

Options:
4350737351

EAE3507 3736, 2
EAE3507 3737, 3
BAE3507 3738, 4

FPART WII language Fudulk

Section Id : 646350416

Section Number : 7

Section type: Online

Mandatory or Optional: Optiona

Number of Questions: 10

Number of Questionsto be attempted: 10

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350929
Question Shuffling Allowed : Yes

Question Number : 181 Question 1d : 64635018782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Kuduk - Who 1s the wnter of Puna Khor?

| Ahlad Tirki
2. P.C. Bek
3. Dr. Hari Uraon

4.  Prof Indrajeet Uraon
Options:
645350737359 1
64835073740 2
435073741 2
E4EZ507 3742 4

Question Number : 181 Question Id : 64635018782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ﬁa-'@aﬁ'ﬁmﬁ?ﬁ?
1. i fost
2. @

LS

3. wishIm

4 WL 5w 9
Options:
645350737391
64535073740, 2
64E35073741 2
E4E3507 3742, 4

Question Number : 182 Question Id : 64635018783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Kuduk - Who 15 the wniter of the book Khor Larang?

1.  Dr Hari Oraon
2. Prof Mahesh Bhagat
i.  Prof Famdas Oracn
4 Cropal Oraon
Options:
64535073743, 1
64535073744 2
EAE25073745 3
EAE35073746. 4

Question Number : 182 Question Id : 64635018783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



F5E - BN TSy [HE & a9e $H o7

1. Tzl

2. L EEW W

3. WL IEEE S

4, TiOmEIEE
Options:

E4E35073743. 1
EAE3507 3744, 2
64535073745, 3
64535073746, 4

Question Number : 183 Question 1d : 64635018784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fr gt FuF R o A E ue afieus (A) 2 ST gEa a9 (R) B T 1 iR i

7 18 7 H2 o1 WA H /el I gi-0 -

Ea]

T (A) . FUTEA TSRS TS Tl
aF (R) - A ga e et es o g
Fe:

1. (A) 3T (R) 2 =t &1

2. (A)R(R) FHITEE
3 (A) TR SRR TG 8
4 (R TR A) TEEI

Options:

64535073747, 1
64535073748, 2
48350732749 2
4535072750, 4

Question Number : 183 Question Id : 64635018784 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fr g1 A fan o A 8 ue afieua (A) 2 ST g8 a6 (R) 81 ST &1 uiRe i

4 U 0 FE 1 W Y wE1 IO g
pgd
HfHFU (A) . FUTE TR TREH T
% (R) . T gw et es ot o
Fe:
1. (A) 3R (R) & ot &)

[

{A) 3R (R) SHi T 21
(A) Tt & 3T (R) T &
(R) Tt & sfiv (A) TAE B

bl

Options:
64535073747, 1



EAE3507 3748, 2
6435073745, 3
64535073750, 4

Question Number : 184 Question 1d : 64635018785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TEE BE SRR Ea b s ke g R b4

1 ﬁaaﬁ&@jﬂ @?maﬁﬁjﬁmﬁﬁmuﬁ
3. PEE T M g 40 g SR O, $39 31 o
4. ﬂﬂiﬁgﬂtﬁammgﬁjﬁaﬁ@ﬂa@?m

Options:

E4E25073751. 1

EAE3507 3752, 2

EAE3507 3753, 3
BAE3507 3754, 4

Question Number : 184 Question Id : 64635018785 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TEE e s g S eRa 7

. TEE P T, R AR, T (I, $EE E M
4. ﬂ@gﬂtﬁammﬁﬁaﬁ@@ﬁﬁ
Options:
646350737511
64835073752 2

64535073753, 3
EAEZ507 3754, 4

Question Number : 185 Question Id : 64635018786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e
T %1 FE-11 & AR Sy

-1 -1
(a) oeriaE e (i) T =T TE
(b) TEATE () oo
(c) TRiTEw FoR (iii) §§Egm¢ﬁﬁ
(d) e g (v) FOgEEm

=i ey U fhea | & HEl I B =uA i -
1. (ar{m); (B0 (e)—(1d: (dia)
2. (ark )(u) (i) (i)
3.0 (ar(u): (b ()-(iv): (d)-(iin)
4 () (b)(iii): (e)—(ii): (D)

Options:

64635073755, 1
64535073756, 2
64535073757, 2
E4E3507375E. 4

Question Number : 185 Question Id : 64635018786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e
-1 1 H-11 § gafes Fifau -
-1 -1
(a) EETE e (i) T H=TTEE
(b) T TR (i) =R
(c) TRiTEwH Fox (i) FFEEH HIE
@) = T Gv) o

e e o e | 3 TEt ST B U S -
1. (ar{u); (B0v): (ed(id: (diu)
2 (@) () (i) (d-(v)
3 (ar(u): (b ()-(v): (d)-Gir)
4. (ay(w); by(au); (cy(u); (A1)

Options:

64835073755, 1
64535073756, 2
64535073757, o
64535073758, 4

Question Number : 186 Question Id : 64635018787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fza: TN IR w22
1. e e

2. g fawl

3. wWATwa
4. Touig I
Options:

64535073759, 1
EAE350737ED. 2
EAE3507 3761, 3
BAE3507 3762, 4

Question Number : 186 Question Id : 64635018787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
$59 : T TN [FAwt 27
1. e IEE

2. Eons faet

3. ST
4. TG I
Options:

E4E35073759. 1
EAE3507 3760, 2
BAE35073761. 3
453507 37EE. 4

Question Number : 187 Question 1d : 64635018788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FEW : Wi Fo &1 BH-H FEHI 87

1. F3EF g
2. FEE[EEE
3. S EEY

4 TR T
Options:
B4AB35073763. 1
E4E25073764. 2
EAB2507 3765 3
6AG35073766. 4

Question Number : 187 Question Id : 64635018788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FEH 2 I P 1 -9 FEE! 87

1. e AT
2. FEETEE
3. TSR

4. LA T TE
Options:
64535073763, 1
64535073764, 2
64535073765, 3
64E3507 3766, 4

Question Number : 188 Question Id : 64635018789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fzu
HiHBUE (A) : FRES O TEEieW  $eE au|
F (R) . TR 1 TR T W 45T w3
Fe:
L (A)FE R E) T
2. (A) SR (R) EHT e €
(R) TE1 & 3T (A) T B
4, (A) SR (R) I TR B

b

Options:

4835073767, 1
E4E3E50737EE. 2
64535073769, o
4535073770, 4

Question Number : 188 Question Id : 64635018789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pga
AT (A) : FNES O e $5E aul
# (R) . TR 1 AP o TR S5TE S 1 3
e
1. (A)FEE MR AR
2. (A) 3R (R) S A B
3. (R)FEE AR (A) TR
4. (A) R (R) THTEEE
Options:
64635073767 1
646350737608, 2
64635073769, 3
EdeZE072770. 4



Question Number : 189 Question Id : 64635018790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

dga SHA I{TAT FH H Hel el ¢ ?
1. O o Wi AR Ue, S 9, spos faet
2. e o o AR v, Ot O e, s 9
3, W $ER UEE, SEE 3G, semg fawl O b s
4. TEEIE I, oEE A W TR v, 0. d aes

Options:

645350737711

64535073772 2

EAEZ507 3773, 3
BAE3507 3774, 4

Question Number : 189 Question Id : 64635018790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

dg5a TEH I HA & el Hied g ?
1. WO owEl W AR Ua, S 9, R et
2. poE e o AR v @ @ e, s 9
3, WA FER UE, SR 3G, seg fawl, O b e

4. TEOIE 390G, HEEE B, AT FER v, 9.0 e
Options:
645350737711
GARRE07EFY2. 2
6435073773, 3
GAG35073774. 4

Question Number : 190 Question Id : 64635018791 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

&

: 230
-1 F1 gE-11 & Fafee S
-1 -1
(a) FFIWSA () el
L) fasdt (i) o ot
(c) TAER (ii1)  STRTIO
(d) TEwizel (iv) 9.5 3%

=i oy 0 fsen H & wEt IO & 90 S :
L @) (b)) (e)(in); (d)—{i1)
2. (a)Q); (b)) (e)H(v); (d)y-(m)
30 (a0 (b0 (ed—(a); (1)
4. (ayu); (b)) (eH{v); (d-()

Options:
64535073775, 1



EAE3507 3776, 2
BAEZS07 3777, 3
BAE35073778. 4

Question Number : 190 Question 1d : 64635018791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o

HE
-1 F1 gE-11 § gafEE S
-1 -1
(2) FEERS (i) Tk
b ol (i) omoe Gl
(c) TER (1) TR0 YT
(d) TeiEEL (iv) W EE

=i T&m U fEeea © | T 9T &1 90 iy
1. (A (i) () —iid): (d)—(ii)
2.0 (@) (b)) (e)—Giv): (d)y—(iii)
3. (@) (B (i) (dy—(iii)
4. (aQu); (b} (e (d)-)
Options:
CAEZEEQFEFFE 1
CAEIEN7IVIE. 2

BAEZS07 3777 3
BAE35073778. 4

FART WIII language MNagpuri

Section Id : 646350417

Section Number : 8

Section type: Online

Mandatory or Optional: Optiona

Number of Questions; 10

Number of Questionsto be attempted: 10

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350930
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 64635018792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Nagpuri = Who is the writer of Negpuri Phag Shatak?
1.  Peter Shanti Navrangi
2. Ghasiram
3 Sahm Upendra Pal Nahan

4. Dr. V. P. Keshan

Options:

64535073779, 1
64535073780, 2
48350732731 2
E4E3E50727E2. 4

Question Number : 191 Question Id : 64635018792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR — TG BT X ferast T 87

1. iR wify Taaht

2.  UERM

3. e 3U el g
4. sl QST

Options:

64535073779, 1
64535073730 2
4835073721, 2
64535073752, 4

Question Number : 192 Question Id : 64635018793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Nagpuri - Who 1s the poet of the poem, Mor Gaon Kar Akhara?
1. Dr. V. P. Keshan

2. Dr. Giridhari Ram Gaunjhu
3. Dr. Khalik Ahmad

4. Dhanendra Pravahi

Options:
64535073783, 1
64535073784, 2



EAE3507 3785, 3
BAE3507 3786, 4

Question Number : 192 Question Id : 64635018793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ARTH - “HR T1d X SRR HiAdl & Sid DI 87

1. Sidtdt o
2. el g
3. Bl @i 3gH

4. YA vaETE

Options:

64535073783, 1
64535073784, 2
64835073735 2
E4E350737E6. 4

Question Number : 193 Question Id : 64635018794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TG

ATHHUT (A) - U% UBiet da # it sra1 o H|
% (R) . Y THITH
e

. (A)7TEd g 3R ([R) TR
2. (R)TIed € 3R (A) FEt 8
3. (A)IRR) I e
4. (A) IR (R) T TE T

Options:

64635073787, 1
64535073788, 2
64535073789, 2
E4E35072790. 4



Question Number : 193 Question Id : 64635018794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT

AfHBHYT (A) - U® Usial dd A it e o J
% (R) . Y TAITH
T :

1. (A)7Ted 8 R (R) 9t B
2. (R) T § 9 (A) & 2
3. (A)eR(R) o a4 g
4. (A) R (R) T T B

Options:

64535073787, 1
E4E350737EE. 2
4535073759, 5
45350723790, 4

Question Number : 194 Question Id : 64635018795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

argdl e vers sH H 98 B -1 82
1. iR afa, M, T3, TeT.
2. THfewn, SIER |iEdT, eI, TR
3. G, TR, SRR Sfed, Miaan
4. O, G, M, SER |iear

Options:

64535073791, 1
64535073732, 2
64535073793, 2
4835072794 4

Question Number : 194 Question Id : 64635018795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



argdl O vers eH H 98 B -1 82
1. SiieR e, Mo, Usr1, TeTe
2. TifcE, SRR |igd, @S, TR
3. XEIG, TR, SR Sfed, miaan
4. U, GG, T, SieR Hfgar

Options:

64535073791,
4535073792,
64535073793,
64535073794,

o LI M

Question Number : 195 Question 1d : 64635018796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A1 &1 -1 9 gafta S -
a1 11

(a) TSt 1) gl U U e
(b) o fafrn (i) o= TR
(¢c) @R (i) RS U H=f
(d) wars s (iv) VP P T
i< feu 7Tu fawrey H 9 Ol I &1 997 S

I (a)-(i1); (b)-(v); ()-(1); (d)~1)
2. (a)-(v); (b)-(um); (c)-(1); (D))
3. (a)-(); (D)-); ()v); (d)~(ii)
4. (a)-(); (b)—1); (c)(ui1); (d)-(v)

Options:

E4E3507 3795,
4535073796,
4535073797,
645350737938,

[ N

Question Number : 195 Question Id : 64635018796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

-1 &1 g=-11 | gAfea i
-1 g1

(a) +Fareia (1) gg-t U= urd ‘e’
(b) o (i) e et
(¢ @R (i) RS Y. A
(d) Tars B (iv) Vped 3.
i fn U fieeu | 9 98 IR 1999 B :

. (a)-Qu); (B)-Gv); (0)-); (DD
2. (a)-Qv); (b)-(u); (0)-); (d)—-(1)
3. (a-(); (b)-1); ()w); (d)(1)
4. (a)-); (b)-@); (c)~u1); (d)-av)

Options:

64535073795, 1
E4E35073796. 2
E4E3E5072797. 2
64535073798, 4

Question Number : 196 Question Id : 64635018797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATYY : TG R Wit & A o 8
. SiLdtd sl
2. Sl ¥J0 $UR TSI
3. Sl AN i
4. Sl HAauh g
Options:

E4E350737595. 1
E4E3507 3800, 2
64535073801, 3
B4E3507 3802, 4



Question Number : 196 Question Id : 64635018797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ANTY - TG Ry At & oew B 87

. SLdtdq s

2. 3l 4J0 $UR TRaHI
3. 3 pERISEd

4. g Pauh g

Options:

64535073799, 1
64535073800, 2
64535073801, 2
E4E350732802. 4

Question Number : 197 Question Id : 64635018798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ARTYR : 0 3 | IR TS TH 3t BE-91 HEE 87
1. S EE

2. dgenfEE
3. HIT S
4, TS

Options:

4535073803, 1
645350723804, 2
64535073805, =
64535073806, 4

Question Number : 197 Question 1d : 64635018798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ARTY : 1 H I IRET TS T B H1F-6 HEE 87

1. SR
2. SgerniEE
3. HMTS®
4. HMET

Options:

64535073803, 1
64535073804, 2
64535073805, 2
4835073806, 4

Question Number : 198 Question Id : 64635018799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g
IftpuT(A) : w0 TEa foda efaR e g
& (R) .+ W gIEE SRR T g
HC:
. (A)9EE3R(R) TEAEI
2. (A) 3R (R) oA IEt Bl
3. (R) 9T iR (A) T )
4. (A) 3R (R) oI Tad B
Options:
CAEZE072E07. 1
CAEZEQFEE0E. 2

E4EZ507 3809, 3
EAE35073810. 4

Question Number : 198 Question Id : 64635018799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATTgH
NBYT(A) : FUaT IEd feda giaR e gl

% (R) . = 75 I SRR T gl
Tl

. (A) SR 3R (R) Tod B

2. (A)MR(R) T T

3. (R)FE R IR (A) TEd B

4. (A) 3R (R) T Tad B

Options:
E4AE2E072807. 1

E4E3507 3808, 2
E4E3507 3809, 3
B4E35073810. 4

Question Number : 199 Question 1d : 64635018800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATGH =Ed aliTar F ¥ G@ B ¥ 2
1. dier it Fa@ft, ars 1y e, e fBRer!, e $ER I
2. ArtmeN faar, FEAeEs e, dict Hifd Fadh, pH AR 1E
3. UHIE $HR M, W Hifd e, FsusElF fiRemn, amsry e
4. U |l TEEh, A R, TG $ER I, TR ASeS ERaTe

Options:

64635073811, 1
64535073812, 2
64535073813 2
4835072814 4

Question Number : 199 Question Id : 64635018800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT SEFH FXTA HH § TE FA § 2
1. e wifa Faat, ars 1y s, SaeE ke, vHie $HR T
2. O e, FRAeE frers, dice Hifd Faat, vHie $AR 1@
3. UHRKG $ER [, dier Yifd 7aet, wEusEs e, aisry e

4. iR Hifd Taot, afsET fAar, vEE $ER T4, TEESEE fReTeT

Options:

64835073811, 1
E4E3E5073E812. 2
64535073812,
645350723814, 4

Question Number : 200 Question Id : 64635018801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT
a1 ! GE-11 T gaferd sifer
a1 gEt-I1

(a) SI.IAEG (i) FHIG
(b) A1 R (i) VETed IR FHR
() S Tt v i) fesi
(d) A sfoa Heilg (iv) o=t
=i feu 7T fdwe | 9 981 ST 31 99 Sife :

L (aH); (b)-u); (e)Hi); (d-v)
2. (a)-u); (B-Qv); (e)-(); (A1)
3. (a)-); (D)-(m); (e)—v); (d)-(v)
4. (a)-v); (b)-(u); (e)—(1); (d)-(1m1)

Options:

64535073815, 1

64535073816, 2

64535073817, 3
64535073818, 4



Question Number : 200 Question Id : 64635018801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT
a1 ! -1 9 gaferd sifer
a1 FEt-I1

(a) 3. VTG (i) BTG
(b) S\ HeR (i) VETEd I PAR
(c) I Wit g Gi) fe=m
(d) uH 3ieaN Asilg iv) &<t
=i U T [iedd d 9 98 IR &1 997 Sifod ;

1 (a)-1); (b-in); (e)1); (d-av)
2. (a)y-(u); (b)-v); (e)-1); (d)-1)
3. (a)-); (B)-(u); (e)—v); (d)-av)
4. (a)-v); (b)-(u); (e)—(1); (d)-(m1)

Options:

645350735815, 1

64535073816, 2

64535073817, 3
E4E3507381E. 4

PART IX language Panchpargania

Section Id : 646350418

Section Number : 9

Section type: Online

Mandatory or Optional: Optiona

Number of Questions: 10

Number of Questionsto be attempted: 10

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 646350931
Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 64635018802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Panchpargania - Who is the wnter of Panchpargania Nava Geet Aar Kavita?
1. Jagannath Singh Munda
2. Ivotlal Mahadam
3.  Karam Chandra Aheer

4.  Rajkishore Singh
Options:
646350735819, 1
646325073820 2
64535073821, 3
64635073822, 4

Question Number : 201 Question Id : 64635018802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TOA=1- TR =17 1id 3R Saar & 09 &I o7
1. Ty g gust

2. SOiid 99 HEEH

3. B TE AER
4. TSR &g

Options:

64535073819, 1
64535073820 2
64535073821, 2
E4E3S073822. 4

Question Number : 202 Question Id : 64635018803 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Panchpargania — Who is Barjuram Tanti compared with?

1.  Chaitanya Mahaprabhu
2. Vidyapan

3. Surdas

4. Kabir

Options:



EAE3507 3823, 1
B4E3507 3824, 2
64535073825, 3
64535073826, 4

Question Number : 202 Question Id : 64635018803 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR SRGRM dldl 1 e I e a1 o 87

1.  JdgHEmY
2. fd=mgid

3. M
4. AR
Options:

E4E3507 3823, 1
B4E3507 3824, 2
64535073825, 3
64535073826, 4

Question Number : 203 Question Id : 64635018804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i &t Py 3 U B, oM B TP sifieE (A) § 3R 290 a@ (R) §1 FUA @ Ul 3k
i U U e & v @Y Wel 9Oe g

gERIIET

SHFHYH (A) : BIC-HIC HES], el TMdd W
F (R) . P18 A Hid Hoh 1 & T
@

1. (A)TEI& 3R (R) Tl
2. (A) 3R (R) i UgT €1
3. (R)WelE R (A) Tad gl

4. (A) 3R (R) SHI T €

Options:
435073527, 1



EAE3507 3828, 2
BAE3507 3829, 3
64535073820, 4

Question Number : 203 Question 1d : 64635018804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A & oy fou o & 5 o sfieE (A) § SR 989 96 (R) 81 il @ ufeu iR
=i U 7T P BT WET B Hel IR gHu:

gEgRATfAT

SHFHUE (A) . BIC-AIC HES], el TMdd WO |
aF (R) . PIE A Hid Fad 1 &1 T
@ :

1. (A)UEE 3R (R) Tad B
2. (A) 3R (R) S WET €l
3. (R)Welg 3R (A) Tad gl

4. (A) 3R (R) S TG &
Options:
64635073827, 1
64635073828, 2
46350735829, 3
64635073830, 4

Question Number : 204 Question Id : 64635018805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR g v w8 § 68 $iH-91 27
L R T o], o AR i, Waur ay, gSTE ARl O g
2. 3SR R 9% P, 49U av, FA T Herdl, 31fe Ae wiid
3. IS PR TG, AR T R, 3SR a1 oA Pd, a0 3
4. 90T Y, GSTSY AR T P, 1S FHT TG, FHR T Hordt

Options:

64835073831, 1
E4E35073E832. 2
64535073832,
645350723824, 4

Question Number : 204 Question Id : 64635018805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR fmfafad v wE T8 B a2
. SR T Mo, offe PR wiiid, TauT gy, gSTse anl aed P
2. GOIER ARl G P, U aY, PR T HoR, 3nfe e Wit
3. fe IR G, AR I HoRd, 38R aRI &RA Fd, @0 aH
4. AU qY, GSTER AR a3 e, i FAT Hiild, AR T Hordt

Options:

64635073831, 1
E4E3S073832. 2
645350735822, 5
64535072824, 4

Question Number : 205 Question Id : 64635018806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LEERIE L
GHI-1 1 GEl-11 ¥ gaferd Hifo
- I
(a) Sl FHE Hedl (i)  deowian i g A
(b) o FU Y figea (i)  SEORTHE R T
(¢) oY g st (i) onfE g
(d) SRS BIg (iv) raor ge
A f3u T faded H 9 Wel TR P =90 il :

L. (a)=(iv): (b)=(iii): (e)=(i1): (d)—(1)
2. (a)=(u): (b)=(a): (c)=(111): (d)=(1v)
3. (a)=(1): (b)=(ii): (&)=(iv): (d)~(iii)

e

(a)—(111): (b)-(1v): (e)—(1): (d)-(1i)
Options:

645350738355, 1

645350738356, 2

64535073837, 3

64535073838, 4

Question Number : 205 Question 1d : 64635018806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g

FAI-1 &1 GEl-11 T gaferd HifSu
- I
(a) Bl FzHEA el (i) O i e areE
(b) on Iu= Y Rigea (i) e g WA
(c) s fig qUst (i) onf% FER i
(d) S DI (iv) TEoraY
A {3 T fased H 9 Hel TR P =90 il :

L (a)=(iv): (b)—(iid): (e)—(it): (d)—1)

[

(a)=(11): (b)~(1): (c)—(i11): (d)—~(iv)
3. (a)=(1): (b)=(ii): (e)~(iv): (d)—(iii)

4. (a)=(u1): (b)—=(1v): (e)—(1): (d)—(11)
Options:
B4B35073335. 1
E4BZ507 3856, 2
EAE25073837. 3
E4A5350738308. 4

Question Number : 206 Question Id : 64635018807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GEURIT - U 9% Ba” Iu feeat 87
1. dm arg Wad
2. PWHTE IR
3. OXHT A HEdl
4. Yo uR R

Options:
4350732539, 1

EAE3507 3840, 2
E4E35073841. 3
64535073842, 4

Question Number : 206 Question 1d : 64635018807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



GR35 Ba” Jur fheat 87
1. e aig Wad
2. YA TE AER
3. UXHT A Hedl
4. e UR g

Options:

64535073839, 1
E4E350732840. 2
6453507233241, 5
4535072842, 4

Question Number : 207 Question Id : 64635018808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR : PR Tl P ATCDH B AH T 87
1. SR
2. g9d
ER
4. HTHE
Options:

E4E3507 3843, 1
E4E3507 3844, 2
64535073845, 3
64535073846, 4

Question Number : 207 Question 1d : 64635018808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

YOI : PR el P AleD @l A 1 87
1. TR
2. &9
3. Y@
4. WHCHE
Options:

64535073843, 1
64535073844, 2
64535073845, 3
EAEZ507 3846, 4

Question Number : 208 Question Id : 64635018809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
GuRATAT
UPYT(A) :  EEU AT PIE| SR BTER e By

@ (R) . & qAIH & G arl|
P

1. (A)WEI§ SR (R) TTd 81
(A) T € 3R (R) WEI €1
(R) 3R (A) 21 98 €|

4. (A)7EE§ R (R) TTE B

[

fad

Options:

4635073847, 1
64535072848, 2
64535073849, =
64535073850 4

Question Number : 208 Question 1d : 64635018809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
GEURATAT
Y (A) : E3IUHNT PR | T STeR e 8|
a® (R) . 2 AAH F a1 anll
P
. (A)WElE 3R (R) T €1
(A) e € MR (R) Wl 81
(R) $fR (A) G &l |

4. (A) 7 € SR (R) TG 81

[§ )

fad

Options:

64535073847, 1
64535073848, 2
64535073849, =
4835073850, 4

Question Number : 209 Question Id : 64635018810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR SHA aOIAT HH O Hel Hid g ?
1. S SR, Y T 3R, S R qus), vefer e

]

oAy fiiE qUST, SRANT Sisd, B T ofR, Teieuk R
3. iR fig, sy e gusT, s S, w9 9 R
4. TTEH AR, TR g, s e qus, s Srd

Options:

64635073851, 1
64535073852, 2
64535073853 2
E4E35072854. 4

Question Number : 209 Question Id : 64635018810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IO gHA gldar HH O HEY @i g ?
1. I S, o T ofR, s Rig que, Teifesie i

(]

SATATY g qUST, SR Sisd, H 95 HER, ToleuiR fg
3. Yoo fig, ey fie qus, i SR, TeE T R
4. DHATH AER, WeoUR RiE, Sy [ gust, sman Sigd

Options:

4635073851, 1
64535073852, 2
64535073853, 2
64535073854, 4

Question Number : 210 Question 1d : 64635018811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T

Y1 &1 GEI-11 T gaferd iU |
- I
(a) TsHE i) guder
(b) WIS (i) A
(c) HfPwR (i)  Taur gy
(d) IAPIR (iv) REerRE
1= fau nu fasren o O bl IR &1 =90+ S ;

L (a)(ui): (b)—(1): (e)—(11): (d)-(v)
2. (a)-(wv): (b)=(a1): (c)=(1): (d)~(i11)
3. (a)=(1): (b)-(um): (e)-(i1): (d)-(1v)
4. (a)(ii): (b)) (e)—(iv): (d)—(iii)

Options:

4835073855, 1
64535073856, 2
64535073857, o
64535073858, 4

Question Number : 210 Question Id : 64635018811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

YU
YAI-1 1 GEI-11 T gaferd Hifeu |
Tell-I -1

(a) wsHiE (i) g
(b) WRAAS (i) A
(©) gEw (i) Yauiay
(d) PR (iv) RgarE

2 f3u 7 faveu H | w2t IR &1 T4 S

L (@) (b)—(1): (e)-1i): (d)iv)
2. (a)-(v): (b)=(ai): (e)—(1): (d)—(iii)
3. (ap1): (b)-(m): (e)—(an): (d)-(1v)
4. (a)(in): (b)—1): (e)—(iv): (d)—(iii)

Options:

64535073855, 1
64535073856, 2
64535073857, 2
E4E35073858. 4



PART ¥ language Kurmali

Section Id : 646350419

Section Number : 10

Section type: Online

Mandatory or Optional: Optiona

Number of Questions: 10

Number of Questionsto be attempted: 10

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350932
Question Shuffling Allowed : Yes

Question Number : 211 Question Id : 64635018812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Kurmali - Who was awarded a Ph.D. degree on the topic, Kurmali Krisina Kavva
Parampara Aur Vaishistya?
1. Dr H. N. Singh
2. Dr. Parameshwari Pr. Mahto
3. Dt Vyay Mukherjee
4. Dr. Vrindavan Mahto

Options:

64635073859, 1
64535073860, 2
64535073861, 2
E4E35073E62. 4

Question Number : 211 Question 1d : 64635018812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
PIATE — “HIAT PO BT TR AR dferey Wi J diva 21, @i iy 58 vem
AR

1. Slua e
2. B waydt v Aga

3. ol faow gt
4. 31 <@ uEdl
Options:
4535073559, 1

E4E3507 3860, 2
EAE3507 3861, 3



EAE3507 3862, 4

Question Number : 212 Question Id : 64635018813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Eurmali — Who 1s the poet of the poem. Dangair?

L. Prof. Prameshwari Prasad Malito

t

Lakhikant Mutamar

Lad
.

Nagen Punariar

4. Anant Malito

Options:

4835073863, 1
E4E350732864. 2
64535073865, o
4535073866, 4

Question Number : 212 Question Id : 64635018813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TIATA! - ST Bl & Bid B &7

1. 9. o v medl

[

L]

T YARSR
4. 3FdHedl

Options:

4635073863, 1
645350723864, 2
64535073865, o
64535073866, 4

Question Number : 213 Question 1d : 64635018814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



9 g1 pA fau o € A 9 ue afie (A) § SR T a6 (R) &1 AT 3 Ul oR

414 3T U Fe &1 wam ST gel SR gAY
TS
HHDUT (A) .\t 3 7 Ave, Axfae g Eit &1
T (R) . I 7 D GIege, THHY ABH AN e8 FI
C

. (A)HEI8 3R (R) T B
(R) Hel ¢ 3R (A) 7Td €|
3. (A) 3R (R) ST Ted &
4. (A) MR (R) I T B

I

Options:

64635073867, 1
E4E3S07386E8. 2
E4E3E507328E69. 2
64535073870, 4

Question Number : 213 Question Id : 64635018814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 21 e[ Ju o € o ¥ o sifie (A) § SR R @ (R) 81 Tl F afeu $R

419 3T U Fe o1 wa S gel SR g
TR
HUDUT(A) . Hivdr 3 1 A, HRifoe e i &1
ab (R) . e T G1eg, THOY g AR 8% F
Pe:
. (A)9d g 3R (R) Tad
2. (R)Welg 3R (A) T €

3. (A) 3R (R) Hf Tad
4. (A) 3R (R) S ST

Options:

4835073867, 1
E4E3E073EEE. 2
64535073869, o
4535073870, 4

Question Number : 214 Question Id : 64635018815 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PIATR  Fmfafad uewH a § 5l BiE-a1 82

1. TP S P, o, AR S od e urd, U el og] THR
TR e e e urd, Ui 9o dgl TR, Tod, U9 389 §d
3. OU% IO del TR, R i 5 SHiE® UTd, TP Sed Pa, pod
4. o, U S8 P, YU Tl Sl THEPR, AR 3 oe SfiRae urd

Options:

64535073871,
E4E3507 3872,
453507387 3.
64535073874,

b

o LIPS

Question Number : 214 Question Id : 64635018815 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TRt e gemE mE H 96 eE-ar e?
1. TP S e, G, AR s oid e uTd, U el o] THER
2. TR s wa sifas ud, ude aae del TR, Pod, Uh 383 Hd
3. OUD U Uel THPR, AR HiEE o G 9, TP Se3 Py, Fod
4. o, T S8 P, U el o] THEPR, TR 3 o SfiRad urd

Options:

48350738711
E4E3E073ETZ. 2
645350738732, o
45350723874, 4

Question Number : 215 Question Id : 64635018816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Pt

THl-1 DI GaEl-11 § gAferd Sifeu
gHl-I -1
@ F () Sluaw e
(b) IH U= 219 Bred (i) Tl . Hedl
(c) iU | (i) ST AFFYE Hedl
(d) g eRe i (iv) I = . wedl
i<l f 1Y faepeq § 9 Hel IR 1 =9 PHifi ;

Lo (a)-(1): (b)-(in): (e)—(un): (d)-(1v)
2. (@) (b)) (e)-(v): (d)~(m)
3. (a)=(iin): (b)—(iv): (e)—(id): (d)~(1)
4. (a)-(wv): (b)(ind): (e)—(1): (d)-(11)

Options:

64535073875, 1
64535073876, 2
E4E3S073877. 2
E4E3E073E7E. 4

Question Number : 215 Question Id : 64635018816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LI
FAI-1 B FEI-11 ¥ gaferd Sl
a1 -1
@ T (i) Slua e e
(b) TATC YA 21 B (i) o= U Hedl
(c) ftem Ham (iii) =f AFfE Ted
(d) PR T (iv) Sl Rdu . wedl
il féu U fae § 9 Tl IR D1 = HIfr ;
L (a)—(i): (b)—(ii): ()—~(iii): (d)~(iv)
2. (a)=(ii): (b)) ()~(iv): (d)~(iii)
3. (a)-(ii): (b)—=(1v): (e)—(i1): (d)—~(1)
4. (a)=(1v): (b)=(iii): (e)—(1): (d)(ii)



Options:

64535073875, 1
E4E3E5073EVE. 2
E4E3E073E7Y. 2
64535073878, 4

Question Number : 216 Question Id : 64635018817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PYATE : PR Fiigw P sfder -l 87
1. 3l Hom AR
2. BIL3UEPHR
3. Sl e $HR Hedl

4. SlLUa.TfEe
Options:
64635073879, 1
54635073880, 2
646350735881, 3
64635073582, 4

Question Number : 216 Question Id : 64635018817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PRATT : HRATC g F1 38 Al 87
1. Sl Hom A
2.  BlLIUEPHR
3. Sl 3ES $HR Hedl

4. SlLuaw e
Options:
64635073879, 1
64635073880, 2
54635073881, 3
64635073582, 4

Question Number : 217 Question 1d : 64635018818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PRATAL ; PRAI FH-TE] R o7 & TEP B 87
1. ST o I HEd
3. T AR "l

3. 3 go v

I

4. B NE

Options:

64535073883, 1
E4E35073884. 2
45350733885, 5
64535072886, 4

Question Number : 217 Question Id : 64635018818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PRATE : PR SFHR-a%] AR ed & TEs PH 87
1. ST I I Hedl
3T, T ARG HE Al

3. 3l Ao wHIiE

]

4. Sl ERE
Options:
64535073882 1
E4AR3E072EE4. 2
64535073885, 2
64535073886, 4

Question Number : 218 Question Id : 64635018819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



EELsl
sifHPYa (A) : PoAM HIRE a=fie I= fesr qgmiy i)
a® (R) . DI [ uIfe 3fea pemifers U8 32 & gars|
Fe:
1. (A) 98§ SR (R) T B
2. (A) SR (R) IR €
3. (A) 3R (R) Hi TTad &

4. (A)TEd§ SR (R) Tl &

Options:

4535073887,
64535073888,
64535073889,
4835073390,

[ N

Question Number : 218 Question Id : 64635018819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

EELEI
DY (A) : FoAE TG TS = Raer ggfd si)
aF (R) . B1g b Wifes Sfea pemies O+ 38 & gars |
Fe:
1. (A)SE g 3R (R) Ted g
2. (A)SR(R) I W€
3. (A) SR (R) S e £

4. (A)7Ed € 3R (R) 92 B

Options:
E4E35073557. 1



EAE3507 3888, 2
E453507 3889, 3
B453507 3830, 4

Question Number : 219 Question 1d : 64635018820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Feardt gEH qOIar H § HEr Pl & ?
1. Sl 3 $AR Hedl, 1. Hol WHI, 31 3U= $AR, 31 HIH Jgdl

II\-J

i
.

Options:

64535073591, 1
64535073892, 2
E4E35073892. 2
45350732894 4

Question Number : 219 Question Id : 64635018820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

POl SEH JUIAT FH H TE FlA g ?
1. Sl 3 $AR Hgdl, SI. 6o UHife, 31 30 $AR, ST Hin Hedt

II\J

Lad
.

Options:

64835073891, 1
64535073892, 2
645350723892, o
64535073894, 4

Question Number : 220 Question Id : 64635018821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



PAT

GI-1 1 GI-11 § gafed Sifon
-1 -1
(a) P (i) 3T T=HUR g
(b) HEoR Gi) 3 e v fa
(c) =g (iii) ST I TH Hedl
(d) @ (iv) Sl TR
e fau T fosew § © Ot IR @ 95 Do

L (a)=(i): (b)=Gii): (0)=(iv): (d)—(iii)
2. (a)=(v): (b)=(ia1): (c)=(11): (d)~(1)
3. (@) ()=(); (©)=(iD): (d)—(iv)

4. (a)—(1v): (b)—(111): (c)—(1): (d)—(11)
Options:
E4E3E5073895. 1
64535073836, 2
64535073837, 3
64535073838, 4

Question Number : 220 Question Id : 64635018821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

PAT
gdi-1 ®1 gI-11 ¥ gaferd ifo -
gHl-1 G-I

(a) PRI () o T=fPuR g
(b) TETRf (i) 3 onfEw e f
(c) gt (iii) ST I I HEdl
(d) @ (iv) 3 va iR

= feu o fowe o 9 wEt 3w @ 90 Fifon

L (a)=1): (b)-(): (e)-(1v): (d)~(1m)
2. (a)~(iv): (b)—(iii): (c)-(ii); (1)
3. (a)(u) (b)) (e)~(u): (d)(1v)
4. (a)—(iv): (b)(i): (e)—(1): (d)-(ii)

Options:
64535073895, 1



EAE3507 3896, 2
B4E3507 3887, 3
645350738398, 4

FART XI language Khordha

Section Id : 646350420

Section Number : 11

Section type: Online

Mandatory or Optional: Optiona

Number of Questions; 10

Number of Questionsto be attempted: 10

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350933
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 64635018822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Khordha - Who 1s the wniter of the book, Tatal Aar Hemaal?
1.  Shn Nivas Panun
2. Vishwanath Dasaundhi Raj
3.  Shivnath Pramanik

4. Dinesh Dinman
Options:
E4E250738599. 1
£4E635073900. 2
£46325073901. 2
E4E835073902. 4

Question Number : 221 Question 1d : 64635018822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

GRS - q1qd 3R A TS & TP B 87

1L o e
2. fayAmy g o=
3. TEAry e
4. &= fEamoh

Options:
648350735899, 1



E4E3507 33900, 2
645350733901, 3
B4E3507 3902, 4

Question Number : 222 Question 1d : 64635018823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Khordha — When was Deendak Doani published?

1. 1980
2. 1990
3. 1992
4. 1993

Options:

4835073903, 1
4535073904, 2
64535073905, o
645350723906, 4

Question Number : 222 Question Id : 64635018823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

RS - “SIST® SIHF I Wb Fd §al?

L. 1980
2 1990
3. 1992
4. 1993

Options:

64635073903, 1
64535073904, 2
64535073305, =
E4E35073906. 4

Question Number : 223 Question 1d : 64635018824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



4 9 Py feu T §, o ¥ 1 iU (A) § 3R g1 @ (R) &1 dUAI BT U #R

i f&U 710 e &1 g ST Hel 3R g ;
@RaT
SHTHHUA (A) . 30D TPHd PYa, TWd R WIS
@ (R) . Tl U9 95 @ o, IHE aF Uig|
g
1. (A) 3R (R) SFI 98 I
2. (A) 3R (R) M Tad £
3. (A)EE R SR (R) T 2
4. (R)WEl® 3R (A) Toq &
Options:
CAEZEEQFZ907. 1
64635073908, 2
64635073909, 3
64635073910. 4

Question Number

: 223 Question |d : 64635018824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

A & FyA Gy T, O € U@ 3ifieuE (A) § 3R g0 a@ (R) &1 Pl B ufeu SR

i fa 1T g &1 wE R H61 S 9T
@ivaT
HHHUA (A) . U HPHT B, T YT WIS |
@@ (R) . fopaifeh HIY 931 @ o, A & IS
Pe !
1. (A) 3R (R) S H&l €|
2. (A) SR (R) G TTeG €
3. (A)EAR AR (R) T R
4. (R)WEIE 3R (A) T ¢l

Options:



EAE35073907. 1
645350733908, 2
64535073905, 3
64535073910, 4

Question Number : 224 Question Id : 64635018825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
@31 FafafEa yamem o0 8 w6 PH-arg?

1. 3iiRge Tid, dide TSR eHId, AR BRI, SIS SiefHl

4. THIR R, S5 Steir, siifa 1iid, drae M3 gard

(]

Ll

Options:

64635073911, 1
E4E35073912. 2
4535073912 2
64535072914, 4

Question Number : 224 Question Id : 64635018825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RS Frefaiad v o0 | w8 eH-w 87

1. it Tid, arae (SR eH1d, aHleR R, ST Stefl

3. drdd 3SR gHI, St 1ia, 33T S1er, arier HRM

4. GHeR R, 1316 Stair, siifad 1iid, darde 3m3R gard

]

Options:
45350734911,

1
EAE3507 3912, 2
E4E3507 3913, 3
64535073914, 4

Question Number : 225 Question 1d : 64635018826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



@iRaT
a1 &1 gHI-11 § gafera sifor
G-I Hefl-11

(a) WRAIHIS Ugadh Wl (1) ot Fare
(b) U® Ul SHTd Hgan (i) 31 g FuR
(c) Wiy AT (i) W P, Hedl
(d) weddE (iv) T3

A fou U fadheu # 9 HE IR &1 99 Bt :

Lo (@)=(0): (0)~(i): ()~(ii): (d)~iv)
2. (a)~(i): (0)~(0); ()~(iv): (d)(Gii)
3. (@) (b)-(v): (©)—0): (d)—(ii)
(a)~(iv); (b)~(ii); ()—(iD); (d)~(3)

=

Options:

64535073915, 1
64535073316, 2
4535073917, 2
64535073915, 4

Question Number : 225 Question Id : 64635018826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



@iRaT
a1 &1 gHI-11 § gafera sifor
G-I Hefl-11

(a) WRAIHIS Ugadh Wl (1) ot Fare
(b) UH ufdes Shrd Agan (i) 31 faHe $UR
(c) iy A (i) Gdl¥ . Hedl
(d) weddE (iv) T3

A fou U fadheu # 9 HE IR &1 99 Bt :

Lo (@)=(0): (0)~(i): ()~(ii): (d)~iv)
2. (a)~(i): (0)~(0); ()~(iv): (d)(Gii)
3. (@) (b)-(v): (©)—0): (d)—(ii)
(a)~(iv); (b)~(ii); ()—(iD); (d)~(3)

=

Options:

64535073915, 1
64535073316, 2
4535073917, 2
64535073915, 4

Question Number : 226 Question Id : 64635018827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WRST : GRATEH BT Ugad Tt fbd] 7
.  SARGHR
2. SLUGH
3. HEW AR
4. YITRWE
Options:

E4E35073915. 1
EAE3507 3920, 2
B4E35073921. 3
BAE3507 3922, 4



Question Number : 226 Question Id : 64635018827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

WRST : GRS H1S Ugad Yol [bd! 62
. SARPARH
2. SLU&G.F
3. W MdR
4. YdIHR UG
Options:

E4E35073919. 1
BAE3507 3920, 2
64535073921, 3
E4E3507 3922, 4

Question Number : 227 Question Id : 64635018828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

WRST : YA 3fgeR gr1 fafad ser $19-4d1 82

. eRHTMH
2. i

3. dHiywied ™
4. ISN HARH

Options:
4350735923 1

EAE3507 3924, 2
EAE3507 3925, 3
BAE3507 3926, 4

Question Number : 227 Question Id : 64635018828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



WRST : YT 2MgeR R falkaa e d1a-d g2

.  RADMW
2. HiE

3. diy#Afed e
4. 339 HgH

Options:

64535073923, 1
64535073924, 2
64535073925 2
64535073326, 4

Question Number : 228 Question 1d : 64635018829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

@aT

HUBYT (A) - Eie! iy wiftw van B33 svE! B

% (R) . Tl o | faen o forfea wifew & srure Yo &)
e

1. (A)TE g 3R (R) Tad &l

[ ]

(A) 3R (R) EHi 9T €1

Lad

(A) 3R (R) A TEA B |

4. (A)TEAE 3R (R) WEI &
Options:
C4EZE072927. 1
C4EZEQ7Z928. 2
E4EZE073929. 2
C4E350723950. 4

Question Number : 228 Question 1d : 64635018829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



RaT

dfpu (A) ;s R wifta ton S9sn S B

T (R)

9

Options:

[ ]

Lok

fopet o5 ey foem # forfea wifew & e YeR B

(A) Tl € 3R (R) T 2
(A) 3R (R) &F1 WET €1
(A) 3R (R) FHI Te &1

(A) TTd § 3R (R) W&l &

BAE35073927. 1
64535073928, 2
64535073929, 3
64535073930, 4

Question Number : 229 Question Id : 64635018830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

GRS A qOTAT e & Tal Hid g ?

L.

b

4.

Options:

64535073931,
645350739352,
EAE3507 3933,
EAE3507 3924,

dl. U, sflgeR, 1. . &. =1, . Fres wed, i) irand
31U &, 30, W, e mea, Mftemd Mkae®, .t siiger
S U &, 30 o U, oieR, W, fodve wear, ffverd mieandt
21T . 1, W, e Aed, v mard, &1, v, eiiger

o LIRS

Question Number : 229 Question Id : 64635018830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



@ReT A gyIdl %H O T hid g ?
1. @ U sfigeR, ST U &. o, Wi, s aed, fferd drand

b

Si 1. &, o0, o, e wear, v T 8 T sigeR
3. Sl U o o T siger, . e qedl, ke tiand
4. 3L & 30 W, Faaes e, e a4 wA. siggR

Options:
E4E3507 3931,

EAE3507 3932,
EAE3507 3933,
EAE3507 3924,

[ N

Question Number : 230 Question Id : 64635018831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ERaT
Y- & GEHI-11 § gafera S
Tl-1 -1
(@) Sl g i YR
(b) SR PHAR (ii) ISid HeH
(¢) HeU AR (iii) SRFAT AR TEPS-ATa
(d) T&H; (iv) UeTH Wiffthehe
e feu U faded H O 981 Io) &1 999 Difeg
1. (a)(iii); (0)—(iv); (e)—(ii): (d)—(i)
2. (a)=(ii): (B)=(1): ()=(iii); (d)—(iv)
3. (a)=(iv); (b)=(ii): ()~(1): (d)—(iii)
4. (a1 (b)—(iv): (c)—(ii1): (d)—(ii)
Options:
64635073935, 1
64635073936, 2
64635073937, 3
64635073938, 4

Question Number : 230 Question Id : 64635018831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



st

G-I B GAI-11 8 Fafea S
Y- 11
(a) ST =q g 0 T SR
(b) SR PHAR (i) Joi¥ HBH
(c) HEW AR (iil) GRS 3R TEIhe- STl
(d) uwE (iv) geud wifefrae
= fau e fasheq & 9 Tt IR B 99 B ;

L (@)-(ui); (0)—(v): (e)-(1); (d)-1)
2. (a)(ii): (b)1): (e)—(iti): (d)—(iv)
3. (@) (b)) (e)=(0): (d)—(m)
4. (a)(): (b)—(iv): (e)-(iid): (d)-(1i)

Options:

4835073935,
4535073936,
4535073937,
64535073938,

[ N S



